S1

DRG No.

JOB No.

FOUNDATION PLAN
SANTA FE PLAZA

DW. LLC.
01/13/2020

13710 JUDSON RD.
SAN ANTONIO, TX 78233

DESCRIPTION
PROJECT NAME
DRAWN BY
DATE DRAWN

/"5 \BASE PLATE DETAIL (TYP)

&

REF: 01/S3.1 (BP-3)

mBASE PLATE DETAIL (TYP)

&

/"3 \BASE PLATE DETAIL (TYP)

&

REF: 01/S3.1 (BP-3)

REF: 01/S3.1 (BP-2)

&

REF: 01/S3.1 (BP-2)

% S~ & % % %
o <O *o g +o +o
K i % % % %
5 T o S5 % X 5
29 Loy X, %% %
® B ® ? ® ®
o
,Hn../_ 0| — S
b T == . S
- -~ [ 1 [ g | . S — R
5 2 2 I = ==L =B S |u
le. R | I
S PN 3o w Y | 3~ S| =
! X o Xm: A , S , SR o|O
- ¥ s < alg 50 | %3
B o 2 - 2y | <
| | W o 7o m | L | al @
| ol al & = NI @l =
CoE- Gl & S | El
: T e T N -
! | | ! | /0 |
| | | | | Jw,ee |
© ! | o~ | | | | \W\ |
: N | | & | Z
| 52 | | | | /@ WO
© | | oL | | ! | of T
7S I e e s L e T i b - i N_Aln
| | | | | | | —
| =3 | | | | | 25 O34
| | | | | | | n.JM_.B Ll
| - | | | g8 <o
I I _I_l
| | | | | IR >0
L | | | | T R Oh )
| | | | | | WR R
o ! | | | | | |
R . - f | | f |
— A W | | M) | | | | | DIO
% %k o Sg o | | | | <L
Yok, 38 do | | | % |
o S, T 23 | | | + | X =
y \m\ | | L [ PN | | | +
2o, | e E | B o0 c
@ B T 7 | | @e\x | Lz -
| ~ L | | ! | |
e | | <
ol | | S A V
— | | | | |
| | | 7 7 m
| | ! | —
‘‘‘‘‘‘‘‘‘ e B e I d. | S Q Y
| | | | | Dl
| | | | | g <|z
| | — | | | |VA\) R O
—~ =
| | Xo % | | D g2
I | | .45 | Ks) | | —J N LL o
7 | 7 @ | Lmo .. o
] — . S i | o 0| x
| | | LL L | rwJ\m\ | | DlE w
| | | = I | IEE 5|8
| | ﬂ__ | | DnDu | | | =~ S S
| X5 | | a | o | Y
7 7 [a)
! | %B | | ! | | - D
. Hm 7 7 7 7 |
| = W | | | | |
| ER | | | | | L)
| 1( | | | | |
| 7 7 7 7 7 o % A
| | | | | | o
o ] | | | | | o %0
) | | | | | | ~ -
8 | | | | | | 3 C 53
| | | | | | % 5<
< |
. . , , , | | a 3 7O
X ST |
S T P | | | : L
5 || 38 | | | | | N Cmay
% &y h | h B Rt (Ut
| | | W | | | \\\\\\\“ 'l‘ﬂaﬁ/_Dl 7
0|y I | —~ L WY
) &7 | o = | | | | | - | ==
l | l\l/ | | | | X | o | .Q
g | A | 2 :
;& | | o = , _
o8 | | | S5 | , | » .
=R | | | g7 | L , : g
ol | | | i i o m 7 T~
- | | | | S 0 | . %0
I | I I | | o ' P
== ——-= e e jmr e Cwl & | 8
| | | N\ | It | SRR
! | I — ! = | | - —~ . o
| | | SE to, | | X3 | SE T
! ! S0 ! KY [ [ a2 i v,
| | | I3 S " N | i
— 7 7 L | =
| | | LL | \m\ b — .
| g | | Sl Q | | Ry e —— = .
! ! ! ! o ! I I M| — e
| X | | I | e \ ﬁ T
| | A )] | | | | | >
| RS | | | | | 3 | o
| | LL | | | | | M 7 —
| a| | | | | | N X
! | om | | | | | (e} 0-Z %
| =~ | | | | | a . . o
| | | | | | Q@ Q@ m
! | | | | | | o o0
o | | | | | | S 3 =
g o | | | | | 3
o | | | | |
s g . | | | ) .
— ! ! (O]
Ty % | | s | | | O o
r@@ I | > 2 | | o I | I W m oA~
% |1 329 | | = | | | 2 <2
& mE 3 | | | i S
, o) ~ o2
4 | mlD.( ﬂ__\) | | A__ m) | i w i / | <t H__
=3 | X | | |_N "4$ | | t\w, | i 20 P!
*o | S0 | no o3 | ) | 2 | ez &
L@%% 7 A_HUL_.Z 7 7 F_AM T | 7 %, | o 7 T
| o | | = | | |
N =T | oS B | Q o | o g
Q, I I | N | I | |
5 A = | o T | | &
T - SN N = | S > _ ] f
e e P Yot i e et e R SEREELEEEE o G |
%] | | 2 | | = 5 W
@ | | | < | 5 | I = o | ©
| | | © | 2 | ! S w :
K ? u
N | | oo | LN | |y S . |
! | | | Xy) | | w 4 D e e | . - ,\‘IN \\\\\
- P o 5z i ; * | B2 3 I
: ] | | ?2 | Q | | BT 7 °© | @
i ! | u | | _I_I_AIn | | | N ~ =
| <5 | | Oog | | | 5 e | %,
| %B | | PE | | | = | \ﬁ\mv
I RPN 7 7 o 7 7 7 = 7 S
| | L .. | | - | | | < &J\Ws Hﬂ.
L 5| | | | | | 0 = - =
I | | | | | = f T g
. | | | | | | s I
2 ] | | | | |
™ ! | | | | | |
. | | | | | g
] | | | | | -
, ®©g
X | 1\) | | | | | .
5, i | | | | | 5 <2
VL\ | | uA.B | | | | | EnD mm\
Xa I kY | | | | | 0 9 es
\y | | HF | I I Dm 4An.
X\& 1=l | | | | | o 70
| Dl — | I I | | m Il\H
\m\ | m Hp/_ | | | 7 J.MO&J 7 © |,| =
Q| S | | | S, e ] @
I B I I I | T 1 S s R < | H T | E e R h—
) ] I | | | > | T ol o
O R \ﬂ/ mmmmmmmmmmm R i
Ay f f | f ,
\m\ | | | | | — N
% I I —
@ | | | g R | | =3 s g | =
I I I i I /MT I I .aAI_.B x
| | | X3 %, | T N &
| M | | %B I aum\ | | oy o —
7 ,TJl 7 7 HH 7 @ 7 7 7| & & E 8 T
] 2o | | Sg | TE %
X ol i i m I
| | %B | | m( | | | —
|| XN 7 7 7 7 7
[ | _|_|F | | | | | .
| | | | | | g
I R | | | | =3
| I I I | I | xX =
b
o | | | | | | | <3
Q ] | | | | | | < g
W | | | | | | 7 \I/C >
| 7 7 7 | 7 7 w | I
i | | | | | o | =
] | | | | | 0< | =
Q , ~ 7 7 Enq_u | (1}
| -~ | | ! | |
% | E@ 1 | | | el @ i
oo S H 23 | | | | | | =
aww\% Vol [T , , | ) , M
L | | . — — 2 - - - - — -4 - J—
% Rl m% | | | | | < =N o
| | m | | | | | w
| =~ | | 7 7 5 7 @W © %
| | | | | Z | |
~ N | | | | fo | | u @
B. " s ﬁ ‘‘‘‘‘‘‘‘‘ T T T T r—-—-——>>"F"~"~"—F~"™H"F/""""""«>F/t/"™""—"—""— "/ /" .- tT,mm\‘\‘,\\\‘ = | QJ.\
%, | | | | N, | & | 9 S
© 2 ol , , , , , e e 5
X % o e | | | | | o , %
\m\ | | m1 | | | | | > 7
| £ | | | | = ,
-+ _lLr ‘,\LM_JAW.V\‘\‘\‘\,‘\‘\‘,\ ‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ - __ __ __ ___ ___ ___ __ __ . __ __ b - 7
| e | | | |
| | — | | | | |
1 N | | S~ | g | | g~ |
\ | - | | uVAnq_.V | I*MWJ | | |VA1 [92]
| i | = o | | 52
ﬂ\) | | | | . | rm/rm/ , , |_2
g | | | i X | I o
53 |1 S 7% | @ | | B2 :
Hn/_ | | | | m | 7 7 B( wo
s ] | | | | | =
«© W% I | | | | , , Amnm\
N o= || | 7 7 7 7 7 : ~
| | | | | | | _|O_| %A Wll
. | | | | | W | o =
I I I I | | A N— -
| | | | | %, | 8% ele 2
N | | | | o | , 3 -
| | | | | | rerm/\m\ | W — L
A | | | | Q| °_© m
— I I
) 5 g2 | | | | 1 N [ R Y N B
5 O (S < S S S — o - .- .. - .. S f—-—————- - — 1 ﬁ/ - =
A Lﬂ@fm/ [ ,% _|_| | | | | ..‘J I a
— o | o
-/ . S, | IT & | | | | - - © © )
! fen] ~ | | | | | VA\/ 1 ~ A
) ® & I | | | | | 32 S | = >
4 ! ! | ! | a Y = d P
o | | | | | | 2 = , %, m
- —F W F———~Fw ~ — Y &t - — - — t— r— - T T T T T T T T T T T T T T T e e N L M /WJ
v ﬁ% | | | . | | L a2 | J@ee
) IN | | 5 o | “h | 4 | = FE 8 w7
Q | | w | | “.Jr % ! \*/\w/ | L”W. | [a2]
© + i -+ £ —+ (Y + -
~ ,orm/ I | \*wv@ | | awz ,ww/ | | @\m\ | 11
A Y g b, ® |
~ & N & | | @ | /Uﬂf |
— | | | | | — Q
< T e T BN MJ ‘‘‘‘‘‘‘‘ A R N N — L B 2
— o , = . ! -+ .
~ \“1\‘\\‘\‘\‘\‘\‘\‘\‘\‘\\«..J ‘‘‘‘‘‘‘‘‘ oy — \\WEW\‘B \\\\\\\\\\\\\\\\\\\\\\\\\ = H\im) <o+@@ | e a
| | | | ! X | |
~ ~ | \ | | ~ =R L0 | f 30 % , 9 -
o~ | | N | | — ~ 1), &M LM 7 1
< <3 8~ X 5 X3 2y |z 5 , =
g = |
~— s 52 | o 2R & RE , 5 <
N T L | T Ty | 5 | g = © | © m
=X NI ! ! L ! ! = W ] I T = | ,
o B | ol | | Bl o Bl | | | o N o
N g~ | | &l | | =l 1(W , , S - R e m
=~ | | -
| I I I | I | 7 A
| | | | | | © | O o
| | | | | | | N f /
9 o | o o) f f f w_\ f o _&
| | | | | | | , — A
7 f f f f f f W g @
7 ﬁ ﬁ ﬁ ﬁ | | H__ N\._”._” w N\._”._H XN.
L | 7 7 7 7 7 & = o=
0T-9 19-T] 9-L | v ] 0-€2 7 TT-02 7 0-0T Tens T %m
| | | | | | m <Y
T T T T N\H._Nu_._VN T | | m
N (9\]

&

REF: 01/S3.1 (BP-1)

&




/T 0.S.=116"-4 3g"
8
S5

x
T.0.S.=115-0"

CF8)

CF6)

S2

DRG No.

01/20/2020
DATE

JOB No.

SANTA FE PLAZA

FRAMING PLAN
DW. LLC.

01/13/2020

ISSUED FOR APPROVAL

DESCRIPTION

A&D FABRICATORS

13710 JUDSON RD.
SAN ANTONIO, TX 78233

DESCRIPTION
PROJECT NAME
DRAWN BY
DATE DRAWN

0
REV

(B.2)

FOR APPROVAL ONLY
NOT FOR FABRICATION

FRAMING PLAN

CAad)

\\\\\\\\\ — e e — — — —— - —
i HCXVTNTeqoTT— , : ,mev;ﬁNmoF. : : T : wav;ﬁNmo. : .0 : — NNXv;mec. !
s, f f Yy f
. Il | | N | | L
" [IE | | | | i
,lb I I I I m,
1= | | | | Sl
|1 I I I | M,
% | | | | ﬁr
‘‘‘‘‘‘‘‘‘‘ -t - - - - - - — - — - — - — - — - — - — - — - — - — | - — - — - — - — - — - — - — - — - — - — | — - — - — - — | — - — - — - — - — - — - — M -
f f f f ol
© [ f f f ll
© | | | |
~ | | | |
N f f f
M \\\\\\\\\ = — - e II ‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ Y - - — - — - — 1 — e
[ | | / // |
7 ”/_l_ { - fo I —
ng , , / ,
I ,1 I I I I
f hal f f \ / f f
| | | | N | |
| l f f f f
| [T] N | | | |
s | | | |
+H
|n_u 7 H— V\TIVN\V 7 7 7 —H
= o | o | 3 | Sk
| B 3 i :
N | | N | 3
L | | / 8 | e |
I | | m |
f B f f / / f I
m R f f | f f
e R [ | R - T T T T T T T T T e T e e S N e e g
I Ll | | f f
(o] | | | | | |
T || ” ” N N ” —r
| | M | | M | |
| H] g f f f f
f mﬂ f f f f
| ,1 | | | |
L= f f | f f
| | | | a N | |
ol | | 2 N IN | |
m._u | I | | DnEhLb\_h/ , —H-
) Ll f | o=, f f
i | | | | H uNO | |
||l | | w25> | |
HNA < N
| | | OHFL N | |
A NI f f ONDD f f
| | | | TLDD-T | |
| | | R | |
nﬂ | 85 | | SPluARDn | |
e — UHZ-=-O == —+
% W _/,v/ 7 7 memF /// / 7 | mw
gl s | | woEpd |
X 2L 1, rw Uy ! 6
I %, V\T\V I I HMRNA. gs , |
| Off ENG | | Ow>92 T f |
N[ rwJOfU | | TDTSE | |
8] 0% <sS>OuWy
Q iwi BO@O i i Il N i i
2 IE: @ux/\f | N N LN | ]
Ll f f m f mf
Ll f f A W_; f mf
| | | | N | |
| H f f 0 f ol
| o | | % | %,
%_ Lol f f f f
® | | | N[\ | |
f mf f f f
S S S, | — e T - I B —
3 | | | |
8 [} I I N | |
< (i | | | i
x
m | | | |
> f f { f f
: I NN | |
o - | | = | —
3 | | AN N | |
| | // | |
f f f f
f f f f
) f f f f
0 T T JE—
” N | | | |
//WA 7 7 | |
L\V%@ | | | |
N 1=, f f \\ f f
= rmWJo | | | |
D % Od | // | |
m_ V./U \N\ ! = | ||.,
v\,% f / / f
| 4 | 6,
| | N | X
f f S f W;
f f o f ol
. | | 3 ; | il
o — O —r
o 73 ! ! b 4% | |
N T | | N | |
rOGJ I I o wr I I
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ N N R NN I 4 1= R ! N
| | 58> |
| | )$ | |
o
2 | | N 8 | |
| | | / | i
. | | \ | |
N s f f f f
% Q.J.\V | | | |
X + f f f f
S Xy W W , ,
%_ = 5 , , ] N , =
3 & @ | | |
= | | |
f f \ f
| | N |
Z - AN |
o
| | / / |
| | \ | |
f f f f
— | | | |
s | | Il | |
| 7 N N | i
\N\ | M_._./ | %,
o | x|
f 2 f =<1l
| 2 | |
| | / 911/ | 8,
I ﬁ ﬁ o=t i —Fr
Q_u | | | | |
< | | | / | |
- W \\\\\\\\\\ e e NN e ﬂl\
f f f f f
%L | | | I I
@ | | i | 1
i | | NN | |
i f f f f
1 f f f f
| M | | | |
< f f \ f f
- r-W ! ! N\ @ ! ||.,
S ﬂ | | | |
= f f f f
© Ll f f \ f f
7o) N
& M | | / / | |
AN NN 1
<t N & <N
! | | “ | | VA/ | |
o |l "% | | S | |
— | | B@\VV | | W | |
o | D | | | |
BN I 07 <
0 ; I I VQ@\M I I % I I
=) %21 Ny f f f
O | Ve 1 1 1 —Hr
Sl f f ol
T | | | | |
- 1-21
|l | =T sS | Sl
S s N\ | |
N
- - ‘—»}\‘\‘\‘\‘\,‘\‘\\F \\\\\\\\\\\\\\\\\\\\\\\\\\\\\ | p—— N O . - - ‘m,\w\‘
| 4/ f f 9ZX9TM[T90T / ] f 0 f
© r = 1 f f / / f i
< = | ; N | | | |
N A | SRS | | \ | |
© x o N
<t | ™ e | | 4N |
‘\‘\J:.R_u\‘i;m‘\lw ‘‘‘‘‘‘‘ =1 I B I NG e e = ] wl\
1 | © | | | |
— L ([ @ f f f f
|| < o
__ D — | | | |
wn A,nm_ W 0 W o 0N 0 W I.m,
s Il gl $o S SN | |
=gl | -3 3 5 81BN | /o | |
o~ m, | ﬂ = I GG —M_V NH { = / H.ﬂ I |
o Wi | w ] | —Z O OIN||Q | |
pour] I I o [a)] I = =W e ol o I I
o 2l <, 19 ory |3 NElE 7 |
R @ | oo ¢y T el N ,
= =i =< Mo T i —
| 3 f 5ab f il
Il S || , | :
. | .|_W\./ | _m_wm'm\ //I | 2,
| oz ||| | Sl
4 SAE
I 282 || — | Bl
N | ,Q\\Né@ m.ADnn_m I L] I @l
0 =T 157 fon | N N | ] SS
| | rOO nas | N | T
0l A | | 6
- - e —_ N 0« - L > -4 - 4 .y — I N ) - - - - - - - | %_V
| f f 3 f
| | | | X | |
: |l ] | |
© I | | 9 N =N | |
| | | | MV/A_ _m_v | |
““““““ s S T | I e |
| | | m | |
| | | | W | l,
ST | % 4 | Bl
6 M, I I L\b\*‘@ I m,
i~ W; | | | v_o\vVO 1 | ool
=i | R I | i
w, | | | O&QJ w | |
= f f f , , , | , |
\\\\\\\\\\ e — M R e B B e s —
| | i N | 9TXCTM 28] T VIXZTM [ogg]
(7 = p—————————— e ——————— y—————— T =34 — - — =TI - W \\\\\\\\\\\\\\ 4,\\\
m T T ZexvIM[zge T 2eXVIM[9g6 ol ) !
. | W ol - L5 |
)
& | f f f
i ] | 0-9 1-01 59 | | \Z&/ |
g L] | | | |
I o-11 9-L Ly 0-£2 ! T1-02 ! 0-0T !
%)
. M| O 0 N~ N o™ —
_mlv. o\ o\ o\ —

T.0.S. =115"-0".




(A3) (A4)

1'-6\ 7-6 5-0 \ 17-6 25'-6 30™-0 30™-0 30™-0 17-0 5-6 \ 7-6 |
| | | |
>3 |45 S R > > 5-1 5-0 5-0 51 | 4-8% 4-8% 5-1 5-0 5-0 5-1 5-1% 5-11 5-1 5-0 5-0 5-1 4-8% 5-1 5-1 4-11 5-1 511, [2-1%h  4-10% 5-0 5-0 410% 7% |
\ \ 1 |
[a] I [42] [e]
| L18EB2] HSS6X4X s | | 19CB1|HSSEX4X | | | ‘ ‘ ‘ |
[e\! T T
i ; 19CB2| HSS6X4XYy I [20CBL] HSSEX4X Y4 20CB2|HS$6X4X 1 I 21CB1) HSSEX4XY4 21CB2| HSS6X4X Y }
| | I
o™ L | | | | | | |
o \ | | | | | | | |
@ % — —o ‘ T | ‘ \ \ | | |
P = N e —— p——— e — T ——— p— e —————— 3 — e ——— A B | | NS - - - - - - N | | ) | - - - _ - _ - - - - - - _ 1 '\l - _ RN | | S W - - - — - - _ 0 | - - W - - _ RTINS | | 8 S || - _ - M- |-
g I vi @HSSBXBX#L‘ i F / |£ ? T 1T ‘ I 1 1 ‘ T LI 1 ‘ I I 1 ‘ T T ‘ 1 ‘ ‘
(29 /v —— H— - — ———T—i—i———— —————— J‘ —————— 4‘ ——————— - [17CB2| Hss8xexls - — -y —————— W e T — g i w— @———;F————m————ezwkr——ﬂ———r— iy ——————— e — e - — - — g g g ——— g — O g — g e
o £
IR | | _\_b‘ O\/ | | é | e | | | H
T NN, > S
? , = | @ o | S | S | ' | o | | !
© x | ﬂ | | RS +§roo> | @Q;?OOV | %gg; oS | %%s; o | AN | | |
| '\ | | | | | | | | | |
N § | 9-0 } 10-2 10-2 @23‘60 | Q%\\) | RO | L | ‘3‘2’,\\) | | |
(28) — = —— {——-—- S T T e e e - T — I S H —f - - R T e — - — — - T —— +— - - - i
— | | | | | | | | \ | |
0 B I | | 10-8% 10-1 4-8% | 4-8% 10-1 10-5% 4.9 | 49 10-5% 10-1 L 10-2 105 4-8% |1-9 10-3 10-6 | L
Yow E | | | | | | | | | |
T I B e 1T T 2 | T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 15 L T T T T T 1 i
(. R | | | | | | | |
i | > o \ \ \ \ \ \ \ \ i
Te) | | 6b‘ IO I I I | | | | | |
| S | | | | | | | | |
. 15N | | | | | | | | |
I x\ I I I I I I I I |
o = el | | | | | | | | |
@ rl{ | w\ | | | | | | | | |
| i | 4 \ \ \ \ \ \ \ \ L
| T | | | | | | | | [nl
Il | | | | | | | | |
Q| \ \ \ \ \ \ \ \ |
B IEsll | | | | | | | | |
- Il \ \ \ \ \ \ | | \
© || | | | | | | | | I
! | | | | | | | | | |
19 | | | | | | | \ \ |
>3 [ | | | | | | | | |
. \ \ \ \ \ \ \ \ |
\
PLAN AT EL. +110'-0
(+116-4.3/4")
: | | | |
(F116-4.3/8" J-=—-=-===-=-—=—msmsmmm—m e s = | | | |
| |
| DET. 22
DET. 22 | 83
+1150" - — = — - — - — - x — +1150" »-—-—-—-— N B +1150" - — — - — - — - — J‘ ******** - ————- -
‘ S0 | A6
} ‘ ‘ ‘ |, —HSS6X4XTs
\ ‘ O\ ——
i | @ | ]
RS | ’ 3 i TENSION oD ae:
W/ TURNBUCKLE. (TYP) : | 3" DIA. TENSION ROD | - (TYP) |
AN L HSSA4X4X Yy W/ TURNBUCKLE. (TYP) ! | | -
IR 17 STUB COLUMN | ! ! :
| | ‘ ‘ ‘
\ | ‘ | |
| | HSS6X4X 14 / ‘ ‘
| | | / A e | | HSS6X4XY4
DET. 21 | | L, DET. 21 . | a
S3 ‘ ‘ \ S3 \ %
‘ ‘ i \ \
| | 3 TP ‘ HSS4X3X 14 AT ‘
HSS4X3X 14 AT ‘ 16 A TYP.
Rl MID-SPAN,4TYP. \ HISDSA&'Q‘*A?(NIMTAYTP | WTYP. MID-SPAN, TYP. | 36
/’ i i'/ - 1 ’ l !’/ \ ! L/
] | | | ‘ * ‘ |
l I | I | |
[0 o /4 o 1] 1 c a0 A
+110-0" ) —-— A= == —_ — 1100 ) VE———— —f A +110-0" ) — S T -
T | | | | HSS8X6X1s | | \
s s | HSS6X4XYs L 2X2X1s BETWEEN ‘ X2 s BETWEEN HSSBX6X Y
(TYP) HORZ. BEAMS (TYP) | HSSEX4X1, HORZ. BEAMS (TYP) |
| | HSS8X6X Y4 HSS6X4X Y4 ' | | HSS6X4X Y4 4 : | |
‘ | | | |
TP /18 \BEAM CONN. PLATE (TYP) | | |
S3
/17 \BEAM CONN. PLATE (TYP) &/ @BEAM CONN. PLATE (TYP)
\s3/ \s3/
34" DIA. TENSION ROD 61h 6lh
W/ TURNBUCKLE. (TYP) ;
" \
FLIZ'X3 PL 15" x 9" X 09" W/ - FL1"X|
3 (4) 56" DIA ORNAMENTAL |
THUR-BOLTS |
N < HSS4X4XY4 | 4
< 4+ FLip"a / HSS4XAX 14— |
\ |
7 ) ]
%/P&%ngcsﬁg F(e%DP) I o I - 0 ISSUED FOR APPROVAL 01/20/2020
. A | »
*110-0" — — =/ T 1 REV DESCRIPTION DATE
TYP. ‘
\
HSS6X4XYs N W ‘
I resewd & sserc A&D FABRICATORS
e £ Pt e,
HSSEX4X | 140" AFF. 13710 JUDSON RD.
N | SAN ANTONIO, TX 78233
@BEAM CONN. PLATE (TYP) /22 \BASE PLATE DETAIL (TYP) /20 \BASE PLATE DETAIL (TYP) DESCRIPTION CANOPY ERAME
FOR APPROVAL ONLY PROJECT NAME | SANTA FE PLAZA
NOT FOR FABRICATION
DRAWN BY JOB No. DRG No.
DATE DRAWN 01/16/2020 S3




al‘4ﬁ\

DET. 32
S4

ET=DE

T+ +

+++

TS
-
[

|
13CXP5| FL3g"x10 " [tk

ETEDEE

ETIDE

1C1|HSS5X5X1

1C2|HSS5X5X 1,

! T 113CXP1| FL3g"X10
S NN
4

77||‘|

mX—BRACING ELEVATION
Qz/ S2 REF: 01/S3.1 (BP-2)

[oB1lwi4x22

13CXP3|PL3g"X9 1346

~~~~~ X

2C3[HSS5X5X )y

13CXP1|FL3g"X10 )

2C5|HSS5X5X ),

S4

|

|

1 n I )
+100'-0 —

DET. 31 /I |

|

,/[ 13CXP1]FL3"X10
\
\

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

mX-BRACING ELEVATION

sz S2 REF: 01/S3.1 (BP-2)

| |
| 1 /~113CXP3] pL3g"X9 13
\ —[8B6lwi2x14 . 16
+115-0" @ﬁ—,;\# ffffffffffffffff — VA
; + ﬁ\ ﬁ ,”Ja \
1| ] 7 \
v | / 1 |
\ ¢ \ ’
DET.32 - p) \ )
S4 | &/ /7T DET. 32
&
| & | S4
| & |
I (\/\z\ I
| = A |
+110-0" )—-—-—-1 4‘ —_————- &{‘%\ fffffff (/\9 L] T fffffff
| —/8_\/_ ‘
\ z \
'l DET.33 | 5
| S4 “= = 3
| 4 \ i é
< ‘ ! v ‘ @
3 1 ] I
Ak \ / s
é ‘ \ V4 ‘ 8
2] | ~ Cd |
(V)] -
T | \
</ |
Qll! |
\ » \
| j;} ‘
| X |
I (loo i
2]
FL%-vxm\ £ i
\ | 13CXP1|FL3g"X10
+100-0" ) %..f. fffffffffffffffffffff -«7[
/| P
VAR A / N
I \ ! \
v ' 1 i
\ h \ [y
B 1 -
- s ot "L Rkt

mX-BRACING ELEVATION
Qz/ S2 REF: 01/S3.1 (BP-2)

PL3g"X12 DET. 32
/ S4
(+116-4.3/8" »-— - —— ————— e
il X—; A
+115-0 A I [11B5]wi2x14 1 RE T\l o
| \ |
\ N Vi
| -,
| =Tl
| |
| |
| |
| |
+110-0" |- — N o
| ¥ |
| 3 i
3| & 3
S| '-’/()0 ‘ 5
X | ”r | wn
P )
a | 5 Il =
=1 e
Ol | |
= || ‘
| |
| |
DET. 31 | |
S4 ‘ ‘
7 | ~1BP3
I,’ ! \\‘ ! .
! \ 1 \ //
.l ! )2
\ \ ¥ }
T A N ’ N B
+100'-0 S I 2L
1 1
! [13CXPT] FL3g"x10 |
|

/o
1BP2|FL3y"X11~
|

mX-BRACING ELEVATION

Qz/ S2 REF: 01/S3.1 (BP-2)

+++

++ +

Gage) |

[2C2] HsSBEX5X 14

[2C3] HsSBEX5X 14

/(-:\X-BRACING ELEVATION
Qz/ S2 REF: 01/S3.1 (BP-2)

( +116'-4.3/8" - —=

~~ —

13CXP8|FL3g"Xx10 )

DET. 34
S4

~~~~~ 4

[13CXP9] FL3g"x10 /

~~~~~~~~

4C4| HSSBEX6X Y4

)

11 8]

S

x

{e]

x

(o]

(9]

(%))

I

™

O

<
13CXP1|FL3g"X10

(+98-0" )—-

QX—BRACING ELEVATION

Qz/ S2 REF: 01/S3.1 (BP-2)

TUBE SLOTTED AT END
WELD TO PLATE TO

DEVELOP FULL TENSION
CAPACITY OF TUBE

|

|
N N
P )3l |
|

1'-4%g

at

1BP2|FL3),"X11 ‘
i W.P.

mX-BRACING BASE DETAIL

Qy REF: 01/S3.2

13CXP5|FL3g"X10
7
Y |

TYP
| e

TUBE SLOTTED AT END

WELD TO PLATE TO

DEVELOP FULL TENSION
CAPACITY OF TUBE

mX-BRACING TOP DETAIL

Qy REF: 05/S3.2

13CXP1|FL3g"X10

/ HSS5X5X Y4

PL3g"X12

TUBE SLOTTED AT END
WELD TO PLATE TO
DEVELOP FULL TENSION
CAPACITY OF TUBE

PL3jg"X12

FOR APPROVAL ONLY
NOT FOR FABRICATION

TYP
3 AN
hel” sl TYP
74 / \ A\
A / \ \
TUBE SLOTTED AT END / v\
WELD TO PLATE TO / v\
DEVELOP FULL TENSION
CAPACITY OF TUBE
33 -BRACING MID-SPAN DETAIL
Qy REF: 06/S3.2
|
-_13CXP8 |:|_3/8"x10\\ i
|
AN
|
> > \
TYP 3/16 : \
| HEESSTTERA
Hssexexts | | DEVELOP FULL TENSION
***** | CAPACITY OF TUBE
| ¥ N
] HSS8X6X—— - -
o 4
W.P. \ !
|
‘ I
TYP >—~>j/3/16 |
|
|
[13CXP9] F1 35"X10 \ \
|
mX-BRACING MID-SPAN DETAIL
Qy REF: 02/S3.2
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION X-BRACING LAYOUT
PROJECT NAME SANTA FE PLAZA
DRAWN BY JOB No. DRG No.
DATE DRAWN 01/17/2020 S4




PLEASE VERIFY TOP
OF PARAPIT FOR STUB

2.9 COL. HEIGHT
|
| 9
C5X6.7 | >
+120-0" — -~ — "\ — - &
\ > w
I /A |

TYP

36

/ HSS4X3X1s

TYP CONT. L3X3X14

+116'-4.3/4"

\

16JA3
L2-1pX2-1p XYy

|
| —
|

mENLARGED SECTION VIEW

sz S2 REF: 01/S5.0

PLEASE VERIFY TOP
OF PARAPIT FOR STUB

G COL. HEIGHT
PLEASE VERIFY TOP |
OF PARAPIT FOR STUB ‘
COL. HEIGHT Cox6.7 \ <
| %
2.9 #12040"—-—-—~\—-b-— g
\ \ = m
ol |
E | = Jaml
w | ®
| N~
—
\ X m TYP
| ™ 3/16
csx6.7— U7 [V HSSAX3XY4
@ 60" O.C.

CONT. L3X3X1y

+115-0" — - — -

REF. PLAN

10 \ENLARGED SECTION VIEW

Qz/ S2 REF: 05/S5.0

+116'-4.3/4" TYP
+116'_4.3/8"\::::::::: 3 . - —_—_—_ - —-_——-——-——Z—Z—Z=Z—
W BEAM
REF. PLAN
[16JA3] TP F”Z [16PC2]
L2-1pX2-1pX1is +116'-4.3/4" \ | L3X3X1s
. \ CONT. L3X3X %4
+11 '_4. N—c—z=—= - == ey i e —
+115-0"— KA NN 6-4.3/8 5
l=‘ ‘
‘ T
\ /
| W BEAM
/7 \ENLARGED SECTION VIEW +115-0" e oo -
Qz/ S2 REF: 02/S5.0
alo
mENLARGED SECTION VIEW
Qz/ S2 REF: 03/S5.0
D
" \
316" CAP PLATE ;3/4 1-1/2 11
PL36"X12 12 ‘
) ‘ 0 2
N1
i +| 1+ |
. e vt ‘ 34" A325 BOLTS
+115-0 ; %i T‘ i;_ !
<+ |
- ot 3 |
************ +i1 I+ |
™ | ‘ | |
+1| |1+ |
™ ! | |
. o8 PP TSR] I H R
\
- 34" A325 BOLTS ‘
\
i L4X4X3
\ COLUMN
i REF. PLAN
|

HSS4X3X 1
/ @ 6-0" O.C.

|
|
|
|
|
v
|
|
|
|

/13 \BEAM TO COLUMN DETAIL (TYP)

Qz/ S2 REF: 02/S3.1

14 \DOUBLE CLIP ANGLE TO BEAM
Qz/ S2 REF: 04& 04A/S3.1

PLEASE VERIFY TOP

OF PARAPIT FOR STUB }
COL. HEIGHT ‘
! =
| %
+120'0" ——-—-—-—-— T jm i
™ | w
dh
|
\ C5X6.7
TYP e \
|
\
\
\ HSS4X3X1s
i @ 6-0" 0.C
|
|
|
*11@':4:3/6"::::::::::::::::::::i‘:::::::::::::::::::::::::::
|
31 CONT. L3X3XYs
| /
\
+115 O" N | ; \_ 7777777777777
- — ~ 7 7
\ L —T

W BEAM Vs
REF. PLAN | T3S
! L2-1oX2-Tpo X1y
|
FLY4"X4

mENLARGED SECTION VIEW

\s2/ S2 REF: 04/S5.0

A Al
| \
316" CAP PLATE \ \
| \
| \
< ] =
N | |
oo ,?\mlf 77777 ff‘jﬂvﬂ
+115-0 ¥ *
|
+ 1
i+ \ 1%
+ »
RRIRYN |
' |
PL3/8"X9: Uy

!
34" A325 BOLTS
\

—_———

15 \CORNER CONN COL TO BEAM
Qz/ S2 REF: 03 & 04/S3.1

FOR APPROVAL ONLY
NOT FOR FABRICATION

ADD CONT. L3X2X1}y
W/1/4"X0'-8" PLATE
WHERE DECK RIB DOES r
NOT FALL DIRECTLY AT N
CENTER OF STUD WALL 2
\
\
\

TYP

16BC1|ce6Xx10.5

|
+115-0" —— -~~~ S R N N
|
|
|
|
o | —— -
\
|
\
11 \ENLARGED SECTION VIEW
Qz/ S2 REF: 06/S5.0
C6X10.5
STUD WALL
(BY OTHERS) yp
+1150"— - —-—-—-— - — - — - — ———— NN\ —
p30
p30
12 \ENLARGED SECTION VIEW
Qz) S2 REF: 07/S5.0
TYP >
+116'-4.3/4" 4
NN _
+116"4.3/8" - T I D
\
_ —FL3g"X2 1k
TYP - STIFFENER
s
+1150"——-—-—-—-— - —
c%l‘
FL34"X6 34" A325 BOLTS
16 \TYP HANGER COL. DETAIL
Qz/ S2 REF: 10/S3.1
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION DETAIL & SECTION VIEWS
PROJECT NAME SANTA FE PLAZA
DRAWN BY JOB No. DRG No.
DATE DRAWN 01/17/2020 S5




17RF1L
L4X3XYa (LLV)

3-0

22PB1

2'-0

/4-0\PIPE BOLLARDS (6 REQ'D)

Q(y REF: 05/S3.0

PIPE6STD (LLV)

17RF1 T7RFL
LAX3XY4 (LLV) 17RF1 LAX3XY4 (LLV) 17RF1
T7RF3 L4AX3XY4 (LLV) 17RE3 L4X3X4 (LLV) \
— L4X3XY4 (LLV) ‘ ‘ L4X3XY4 (LLV) -
I | I |
| | | L o |
| T | | T l l |
e | | | | 1
| | \ \
| | \ \
| | | |
| | \ \
| | \ \
| | \ \
| | | | A I
| | | |
| | \ \
| | \ \
| < | < | < |
i |5 | |5 | |5 |
x Ll> Wi WLie
‘é:'- o | ’n\: | 'o\: <l 'o\: <l
Sa| | 52 | =k} 58
| | | |
| | | |
| | \ \
| | \ \
| 17RF1 | } }
| L4X3XY4 (LLV) | | |
| | | |
7 [ Al T [ \ \ ]
F - -—"-""----F-"-"""-"""\]"—"""=— | k- - - - - - - - - - - - - - - |
| q\ | |
A 17RF3 - T7RF3 L
LAX3X4 (LLV) L4X3XY4 (LLV)
TTRET 17RF1
17RF1 TYP L4X3XY4 (LLV)
L4X3XYs (LLV) She L4X3XYs (LLV)
41 YTYP. FRAMING RTU AT ROOF OPENING
Qey REF: 06 & 06A /S3.1
TYP >
TYPD 4 17RF1 17RF1 16 —
17RF2 L4X3XYs (LLV L4AX3XYa (LLV
L3X3XY4 (LLV) (V) (V) 17RF2 L4X3X 34 (LLV)
L3X3XY4 (LLV)
, o \ I .
g—V< TYP
\ 3
17RF3 e
17RF3
L4AX3XYa (LLV, 17RF2
( ) L4X3X1/4 (LLV) L3X3X1/4 (L I’V)
JL JL JL

41 \TYP. FRAMING RTU AT ROOF OPENING

Qy REF: 06 & 06A /S3.1

TYP >—|7
3he

+12040" —-—-—-—-—-—1 -

*[7< TYP
3he

4-2

+116-4.8/8" ——-——-—-— - —- O
+115-0" —-—-—-—-—-—-—-—- ] -
b J
|
\
| 0 22LD1
| / FL3"X2 1 (LLV)
\
| /
|
|
| 0
i oY
| ’ i
+1100" ——— - —Hfﬁiv ffffffff - — o
|
\
| 0
\
| o|a
i o < | =
|
‘ [0}
|
\
e
\
\
L8X4XJ1/2/ | 0
|
|
| \
\ N
‘ AN
i ~—ROD3
i o
\
=
|
\
| 0
|
|
+100-0" - =
|
|
|
\

mLADDER LAYOUT (TYP)

&

REF: NONE

2'-4
TYP
il
S
+1200" — e — ——
TYP>T16‘7/
e TYP
$#116-4.3/8" =-—=-=-=-F-=-=c=c=c=qj==c=-===:
+115-0" ————- —————
22LD1
FL3g"X2 1 (LLV)\ FL3E"2 Y
2%
==
+110-0" —-—-—- 2] ——F-—
28
S
TYP r
e
ROD3/4\
N
L8X4X1p
\E
+100-0" —-— -
2'-0
TYP

mLADDER LAYOUT (TYP)

&

REF: NONE

0 ISSUED FOR APPROVAL

01/20/2020

REV DESCRIPTION

DATE

FOR APPROVAL ONLY
NOT FOR FABRICATION

A&D FABRICATORS

13710 JUDSON RD.
SAN ANTONIO, TX 78233

DESCRIPTION

RTU, LADDER & BOLLARDS

PROJECT NAME SANTA FE PLAZA

DRAWN BY

DATE DRAWN 01/17/2020

JOB No.

DRG No.

S6




21346

115

28 ~ BASE PLATE ~ 1BP1

2316

p26
11 \ i

53—I7< TYP

RD

§| N :‘v
g e
A<i7+
(90
*_
(40
= + ]
ol /
s
Yo}
—
p12 1h

e e e e e e e e ]

11
115 8 115
AN
||3 s
© ©)
o g
© ©
AN
e, -
23/4 | 21/4
1346"QD
o p14 h6"D /p12
§N /3—I7<TYP
c$ IJ ;(}‘i
(qV]
(1346"x1") SLOTS A-A
Uy
(q\V]
—

11346

F

17'-0 (HSS5X5X Y4 x 16'-1113/46)

-

= P2
(90]
™ Al
I
2 /
- |
S pl4 (N/S) i
|
234 i 21,
i
i
i
i
i
|
!
I
i
i
i
i
!
|
i
<l 1
Sl
i
i
2, i
|
i

1~COLUMN ~1C1

TYP

1~ COLUMN ~1C2

11
115 8 115
o o iC
— | —
© ©
(o0] [o0]
— o ® ®
é
— —
— —
E_ © ©
s S |
— — C
C-C
8 ~ BASE PLATE ~ 1BP2
21346 23h6
43y | 43 | 1
Q—|7<TYP
p26 p26 \ :
13416"@ \ |
G - 3
) | i
(40 ' (40
(40 i (40
s | =~
o - —
:: [ :: [
| pl0 | 0 | [-1316"D
— ' — '
[ [
TYP | |
| |
| _ |
| = |
1 Tg) 1
[ Q@ |
1 @ 1
[ i [
1 > 1
| 3 |
! ) !
| S |
1 (j) 1
| ) |
| z |
i 3 i
| f-” |
1 (o] 1
| I |
[ [
| |
| |
| |
| s |
| 2 |
[ [
A | |
n:i | I
| |
| |

TYP

X J
— | —
©
o
(o)) ! (0)]
—
©
D
D-D —b
4 ~ BASE PLATE ~ 1BP3
1Y% 1430 49 1% 2136 2346
p26 P26 |
p7 \ /13/16"@ |
R - L -~
—re *}k i —
™ ' ™
I
(90] ' (90]
| N 7
(90] ' =
T i T
F -
® ' ® l
o i o i
H 1 H 1
| |
TYP | |
I I
I © I
1 \F| 1
! © !
! 9 !
I ><<r I
| = |
1 m 1
I X I
1 m 1
| 7)) |
1 (Vp] 1
| T |
! ~ !
| E |
! 3 !
I I
| |
I I
I I
I I
! =
| 2 |
I I
A I I
o:i I I
I I
I I

1~COLUMN ~1C3

135 430 43 | 1%
pz6 \ e p26 \ | TYP
I
Nsﬁ !
R - J.' asﬁv
(90) ' o
& &
- RS b
Al & & N
] \:—r| * !_ - ir'
o / | % |
= ps | = |
! 21%6| | |2%6
TYP | I
I I
I © I
1 \FI 1
i % i
i E i
| ><<r |
| V) |
1 m 1
| x |
| ) |
1 (Vp] 1
| T |
| < |
| E; |
i C i
I I
I I
| |
I I
| |
| s |
| =
| |
A I I
n:i I [
| |
I I
1~COLUMN ~ 1C4
21346 2316
1Y 1434 43, 115
~p26 p26 ,
TYP 136" / X | vp
N ~ ik :
S - T
. | ¥' | . —
. e
™ + L+ ™ \p5
= 4| | |+ “:‘_r'\'
- -
0 | ™ |
< p5 | 4 |
I I
: TYP ;
| |
I I
I © I
1 \F| 1
| iy |
i s i
| ><<r |
| V) |
1 Lr) 1
I 4 I
1 LD 1
| 7)) |
1 (V)] 1
| I |
| = |
| = |
i s i
I I
I I
| |
I I
| |
| sl |
| S|
| |
A I I
n:i I [
| |
I I

2~ COLUMN ~ 1C5

BILL OF MATE

RIAL

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
1BP1 28 BASE PLATES SQ-2
1BP1 28 FL3/4"X11" o-11" 721 SHOP PRIMER A36
112 STUD 3/4" DIA 0'-8" 124
1BP2 8 BASE PLATES SQ-2
1BP2 8 FL3/4"X11" 1'-10" 412 SHOP PRIMER A36
48 STUD 3/4" DIA 0'-8" 53
1BP3 4 BASE PLATES SQ-2
1BP3 4 FL3/4"X12" 1'-0" 123 SHOP PRIMER A36
16 STUD 3/4" DIA 0'-8" 18
1C1 1 COLUMN SQ-2
1C1 1 HSS5X5X1/4 16'-11 13/16 249 SHOP PRIMER A500-GR.B
pl2 1 FL3/8"X9" 0'-9 1/4" 9 A36
pl4 1 FL3/8"X4" 0'-9" 4 A36
p26 1 FL3/16"X5" 0'-5" 1 A36
1C2 1 COLUMN SQ-2
1C2 1 HSS5X5X1/4 16'-9 5/16" 245 SHOP PRIMER A500-GR.B
p10 1 FL3/8"X9" 1'-0 1/2" 12 A36
p26 1 FL3/16"X5" 0'-5" 1 A36
1C3 1 COLUMN SQ-2
1C3 1 HSS5X5X1/4 16'-9 5/16" 245 SHOP PRIMER A500-GR.B
p7 1 FL3/8"X12" 1'-0 1/2" 15 A36
p26 1 FL3/16"X5" 0'-5" 1 A36
1C4 1 COLUMN SQ-2
1C4 1 HSS5X5X1/4 16'-9 5/16" 245 SHOP PRIMER A500-GR.B
p5 1 FL3/8"X12" 1'-0 1/2" 16 A36
p26 1 FL3/16"X5" 0'-5" 1 A36
1C5 2 COLUMNS SQ-2
1C5 2 HSS5X5X1/4 14'-9 5/16" 432 SHOP PRIMER A500-GR.B
p5 2 FL3/8"X12" 1'-0 1/2" 32 A36
p26 2 FL3/16"X5" 0'-5" 3 A36
TOTAL WEIGHT THIS DRAWING 2963
FOR APPROVAL ONLY
NOT FOR FABRICATION
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION COLUMN ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/19/2020 1




z|gls z|gls zlglg|s z|glg AEE
WAA WAA WAAA m-UuAA mAA
" S S S S S
n n n Tp) |Tp)
W < < < < <
< o o o o o
w w w w w
= = = = = =
o o o o o o
o o o a a
a5 s s s MRS
| | | | o|
0| n nlon nlon nlon nlon
__I O |l v ]| - o |l | ~ o|lo|l x|« |l — Y Y G ©
H — | — | - — n | N - [e)]
G N [V} N N N ”__
“H
IW
LU | = A AHE alz|z|o ANE alale| |o
i 5|2|° 5|2|® aldlo|o 5|12|® ol I ) P
G T T [ T T
_N 1 = 1 = | o N N AWn
E < <t N N~ Te]
- — — < — — nd
— (a)
= 2
I
T
T
LL T
O
O L
z =
O <
—|E 5
IC
(7))
N |w
()]
A A A A A
1"" 1 - 1 - l - 1 -
z|X|S|R z|X|a|XR z|5lals| X z|X|a|R z|s|la| X
SR X5 SR X% SR X x|5 S|R|1X|5 SR X5
Dl w|lo ]| A DOl w ]| o |« DOl w]l o] 0| 4 DOl w ]| o]~ DOl w]| o]~
o 20 B ) 2|12 5| ® o 28 B Il ) S 28 Bl ) N 28 S R
Olw]| o] 4 Olw]| ] 4 Olwlalal o Olw ]| al o Olw ]| al o
O]l IT | o] O]l IT | o] O]l I | o |]w]w O]l T | 0| O]l T | 0|
VI
T - | A ] H ] - - | A ] H ] - - | A ] A | A ] - — | A | A ] — | A | ] -
(@4
% ol5]8 51218 Sl 3|8 S1218 81218
— o N o] o ™ o] | o <t o] o n o] o
< ol ol ol ol ol
> I3Y I3Y I3Y 1Y I3Y

s O\
e
o (O]
m &z
vw.,_”\m._” N\._H._” m _m
ﬁ— clel s ewt as g|a
/07
N
= S
Z
21
Lﬂm /L% %
W._ | | b4
,nl_uvAA_. - —-—-— P—r— e — e —
I3en
< UHON
= +
© T To)
n l
2 z V) >
|
m_p 2 R )
Q =
Ny | Ohl Q O D X
geTlele’ | qp-ptT - — a4 -
(00]
| [ SIZRGIE
@)
(9Tjs2-.ST X VXSXSSSH) 2-ST 5 C QX |= < |4 S
i — K w _M - |5
o ~ o K
: 2 | 25102 2|5
5 e z18/m 33|°1°1°|°
Ol a) L
. e - 2Bl 2= 1] |2
< P % L mZ |0 ANn > =
A "Il o%E|5 5|2
(|
N m. & 7N AR L
> 3A n|io|I< |-
uwlele|<
©(w A W |ala|a|a
prd
%ﬁ\: T o >0
of, T elel e 01 ad >
%) o<
= @)
S <
a VB
o~ <
=) @)
T — Dn_._u
- F o + + o mu“
=l ol
| |
n—m_ﬂ__. ||||| fp—— = = = T T s s s s —— A_I_I
o o
< UHON
i A+ + o)e,
L Z
m < |- ]
SIS 5
% ;
B/ Nm_”_u T W W
Telel syp-91 m
@)
l
(OTgZ-.LT X YAXSXSSSH) ¢2-LT “
o
>
T
S ©
o —
P oy
J ©
\ S &
O (o] N
g 5
S <
| = N
o N\H a UA —
> )~ Q = =
! ._N‘\ A_ 2 / N
/ < W,nl_u /I-LHE."L.U ..................................................... -
N & a
= ¥ - © UHON
T e ¢ o
3 / ~
- n —
Merz! | T9Tkg 5 < m
| m ~
2 < 8
2 hr | hf = . ~
0 TTelel ] ggT-wt au z
—
™ D
< (9T TT- 7T X PEXSXSSSH) 0-.ST w
l
—
N\ﬁ._” Nq._u
N elel ] 18T ay
-
© —
-
Gy + + +
R _
P4 | |
({o]
o
© o
& e
N J
© UHON
)
N
(96T X YXSXSSSH) &16-1T
N\F_”._H N?H mx_u
elel | TT-£T 4o 9
Q - =
N = M
T X =
1 0
R O+ + + ©
3 r 4
> \ ! _
7
- + +
um S
Q =
© o
&
= T 4T
grlelel 1181 ad
© N~
— o
R \
p.d
3 - UHON
= N
N ol
(9T/e6-7T X VEXSXGSSH) ¢16-7T
—
O
(9V]
BE o, ] !
y: a— Z
. atlelele] | ser ay <
& =
~ 3
= o + + + .
DR V> b e e e e e e e e e e e e ] — - —
<
& | |
<t pm—
S
28 O
5 Hl | Yl
- TeTeTTeT g-g1




HAEIEE AEIE AE1E: AEIEE: olg
W < < < m-u“ < < m-u“ < < m-u“ < < < W <
S S S S S .
) n Tp) T} Tp) L0 (@]
X < < < < < z
x [n'd ng ng ng [nd I~ O
AMn w | w w w S a
mm = = = = W_ = A\ W
o & & & & | & & =
a5 s v |3 s 13 S|a
| | x | x | |
(7p] n n (7] n (9] n [9p] (7p] (9p]
_ = © | © ™ | © ~ | |« o | o] o] d ™ | v 0
T — — [20] <t N~ N~ N — < — [e0]
A_ w o
L]
L |- ololo|b olo|b N ole|a|b ©|o O
— S|lalolo Slaloe Slaloe Sl=alele N K Z
T V) N~ To) To) N~ Mh_v W
z 3 d u & g g
A L - — - - x
— )
)]
= T Z ) N
LL - >0 R o
: 2E 2
S Z s (<
O g oh O 9lal}
Z = QO M [h [
2 2 2 = YNlolz
—|F < <o 0
o < o
— |5 = o< < Ox|Z[E(0]2
0 LL C = [« |3 |N
M |4 a4 % |5 |= =25
D m = m/_ M./_ H PR P — L N - 9
Jl% . oS, |5, v | % - ¥ o Y zn ==
2lalalel lelglelel |gl2lele] [2]|E]alsle] |2]8]e a0 2|z JRIEE
S1g[R1%|5 S121X|% S12(X|% SAFIEIEIR AN <u «|15|lm 93 [C|2[e°
IR MBI E MBI E R ERE 281 = A= nZ
ol | 3193 ol |39 ol |39 ola|J313|9 ola|9 Lo 0
Ol T |a|w|ww Ol T |a|ww Ol T || Ol T |a|w]|ww Ol T | OO 0| x DT w
L =2 wilo __ D) =
N ) Z =z
7)) mZ|0|Z
W Alal el =]« N B Y Y ol o] o Ala]l a9l | =~ "l =]« B_LDLDOA_HWWAW_H
o o x
1N o m Pz e
N Ol=|3|w
% glzlzlg ARAE: R K slalzlg 5| s .10 B<|2|8 |3 |k
wnu gl®l=|=]= Q% o %% o Y B e e wlel = O%A,I_S%WDD“AD_“
> ™ ™ ™ ™ ™
o0}
AN
p/
i
III-— IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII —
1S9\
(9Te19-T-) (8,9-9T X VX¥X9SSH) 9T 12-9T
HT| | €] | KT !
2
o e 8 B z
b~ = — @
= N o N o)
14 nw
. c_ -
(@)) —_n e e [ —— — i —— —— —— — i —— — e — e —— = — = — e — — ] —— —_—
- L J o ©
1+ B
N
a _C
(e o]
,W_
cle ﬂ
iy
N
—
n
T
m N\._”._” N\._”._”
0 €1 €| | 8g6-V¥T ad
X @
= 2
o < 3
T m o
| o 0 ] [o0)
% P ; + 4+ F =
] Attt
gL ) R e ) S
|
Y e JON
Qs + 4 4 IS )
= h — <
o > m o
) a — L !
_m M._W - 9 W
3 F < >
97 ot = w
ﬂ \m,._”N \MN N\._”._” N\._”._H o .
3 Telel ] otee-p1 -
)
(OT5L-.ST X VAXSXSSSH) Vjel-.ST
N\._”._H N\FHH
< o 1% ele|e|e|¢€ Ve6-ET ay
= N\
+ 4+ >
O/
B T ) N
= _
TTd
(o)
AN
o
o
= -
= n@ Mn
5 2
P 3 3 /
= : cwulﬂ.‘.uTIn
| = — . — — — . — — . — — T — S— — O — —— N —  — - — — - — — . —  — - — O — - —  — ] — - — \‘
ﬁ o ~ ULON
@ N UUON N ©
N M. M.
(9T1S-.ST X VEXSXSSSH) 74 S-.ST
(9THG-LT X 8eXSXSSSH) 7S-LT N & h h m
™
Z elelelelel Toypemer =
Ve6-GT 3 ~ 2
= w 3 d S
- ! + 4+ 4+ 4+ 4+ o
R + 4+ 4+ 4+ 4+ ~
Q/Av_. ¥ e — b e = —
F— e e e e e e e e e e e E e E e e m e e e m o — = — ] — = —_ <
& | |
N <
% 6\‘ + 4+ 4+ +
o S
<« s
i S
[(e] [a
V- & |z z -
6-GT 4 ad S %l f L
> grlelelelelel ] nepe1 ad
[a
V|
T
SE _A 3
R 9 o T o
o | F o / &
ﬂ / _ % 4\[R|ﬂ4uw1"4"1| ..... o e —
— < 8
B e 9 / UHUON
2| o < ¢t
—
<
wn <
_nlu = _MV T 2
le— —_— 1
— -
O ol T Teneg Byc e’ €' | 9Tg6-91 a m
.ﬂ Z
x S
< 2
< 3
(9TgL-.LT X OTGXGXSSSH) VL. T 4
3 <
11d = N
i i
< L._I_..f”.fu |||||||| -—-—-—-——————_——n—__—_ - —_t—_t_—_—_r— e —r — e —r— e — e — e — e — e — e — e — e — - —_
& |
2
v =
NS =
4 = -
13 T
Telelelele ] ve6-GT ad




Yg
(q\V]
i
2136 2316
17’he 115
: _p26
p26 N i PV<TYP ﬂ 134 6"Q
AW Q0. : 1495 0
Ts T 12 s olg
AYH I ':|
™ ' ™
|
s | Tl
| § — -i'— © —
_/ I ™ ! 5‘:‘
p10 -~ | - ! p1O(N/S) o,
| - | &
| TYP I N =
i i
i _ |
| S |
1 T‘ .
! © |
| " '
' X |
I 5 |
| 5 -
| 5 i
| L i
1 )]
I n |
I L |
! < i
| = i
| S i
! i
! |
! |
! |
! sl |
! S |
! |
I | 26
! i @i 146"D W
I 1
& I ! I8"D
|
1% 6 1% 1~ COLUMN ~4C2 ' ;:r: i
N, | — =
|
11/16"® \:IQI L
= <
u / e, | |21%e i /I\\
=
) © P e
© © 1346"D p13 TYP
w o+ \—i /| E w26 ~/
—
w26 3 41 | 4%,
" 1T I~ 2|42
DETAIL VIEW "w26 I8"@ |
= = B-B
N
N C-C 13 "y 1"
5 1 c-¢C h6"x1") SLOTS
3% 21146 . I , (+h6™x1%) 3%6 21116
1ne 11
1116
P27 P27 -
\ ! . 51 | pl14 (N/S)
N o] © e ' S
A:_—FI - I\:_: © C ! / C N
2 @ §| N _'E - V —
TYP o - Z =
= s = e i -
[} - N
o /|| 2" = “ o I p13 | =
1 <I|' (¢p) ) e 3
i ; ; R . SN £
| | p8(N/S) — Gl . . S -
i 41 N P ! h81 ! -
i ! P |A - - w26 ! p4l \u |1
' I | _
(QV]
! N +J g(}l ‘;_.' I_ -9 u F & I_ B
i = = h81 (N/S)-" N © Lifu . G_-w_._l_ﬂgl V o
I N i) RN RN L)
i w26 N + ~ < Bk =
. ) w26 (N/S) s " - - e
| hs1 I R 2l ¥ T opa ®
i g g 5 2 @ g
| e p4l (N/S) | i w26 & w26 (N/S)
| 5 | | ® 33
I b Y I 1 'Y
' © " i o '
I X | <
1 %) ' I x I
| & I i S i
1 1 @
I 1 1
! = | ! ? !
I = | | = I
i E\II i ! g 1
| . i i 3 i
! | | = !
i i | |
i i ! |
i i ! |
i i I |
i i ! |
i i ! |
. ; | |
I % I 1 1
i S | | |
. Z | ={
i i | 2 |
1 &) ' I I |
i 2| | 2, | i
I I D ! 1 D
i i @ | i g,
! ;
| |

1~ COLUMN ~4C1

1~ COLUMN ~4C3

6
2 4
o~ -R"D
R 2
N
DETAIL VIEW "p41
TYP
11 6"@
118"D w26
| !
3 |
q’ - — e — —
XY | |
< /ﬁ I
h81
TYP
D-D
3%6 21116
51/4 | 51/4
‘ i p27
i | |
i - =
H 1
(40] N ! (o) !
|
™ p6 1 (40] \
N 6
- i 3 P
| ™
< -1— =
R | = |
f:, ! = |
1 N~ f
| N P41 |
-4 I_ ‘a_]sv D u i D
/ [N © £ ] l
|
w26 | | i N G ; .
1 N < f’ I
- i
F = .
p41 / 313 [T '_T h81 !
Lo Lo
- o - I
i =~ i
1 C}i 1
! ® !
I < |
i 3 i
1 X 1
i 2 i
[ 0 [
1 U‘) 1
I T |
I = |
1 N 1
! % !
| - |
i i
| |
| |
I I
I I
i i
! !
| |
| =
I 2
| |
(@) | ) I
2 i 2, i
i i
| I

1~ COLUMN ~4C4

BILL OF MATE

RIAL

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
4C1 1 COLUMN SQ-2
4C1 1 HSS6X6X1/4 18'-2 5/16" 324 SHOP PRIMER A500-GR.B
h81 1 HSS4X4X1/4 0'-3 1/2" 3 SHOP PRIMER A36
p8 1 FL3/8"X9" 1'-11/2" 13 A36
p27 1 FL3/16"X6" 0'-6" 2 A36
p41 1 FL1/2"X4" 0'-6" 3 SHOP PRIMER A36
w26 1 FL1/2"X9" 0'-9" 11 SHOP PRIMER A36
4 5/8"@ WEDGE_ANC BOLT 0'-1 3/4" Site
1 3/4"@ A325N BOLT 0'-2 3/4" Site
4C2 1 COLUMN SQ-2
4C2 1 HSS5X5X1/4 16'-1 1/4" 236 SHOP PRIMER A500-GR.B
p10 1 FL3/8"X9" 1'-0 1/2" 12 A36
p26 1 FL3/16"X5" 0-5" 1 A36
4C3 1 COLUMN SQ-2
4C3 1 HSS6X6X1/4 18'-4 9/16" 328 SHOP PRIMER A500-GR.B
h81 2 HSS4X4X1/4 0'-3 1/2" 7 SHOP PRIMER A36
p1l3 1 FL3/8"X9" 0'-10 1/4" 10 A36
pl4 1 FL3/8"X4" 0'-9" 4 A36
p27 1 FL3/16"X6" 0'-6" 2 A36
p4l 2 FL1/2"X4" 0'-6" 6 SHOP PRIMER A36
w26 2 FL1/2"X9" 0'-9" 23 SHOP PRIMER A36
8 5/8"d WEDGE_ANC BOLT 0'-1 3/4" Site
2 3/4"@ A325N BOLT 0'-2 3/4" Site
4C4 1 COLUMN SQ-2
4C4 1 HSS6X6X1/4 18'-2 1/16" 324 SHOP PRIMER A500-GR.B
h81 1 HSS4X4X1/4 0'-3 1/2" 3 SHOP PRIMER A36
p6 1 FL3/8"X12" 1'-11/2" 16 A36
p27 1 FL3/16"X6" 0'-6" 2 A36
p4l 1 FL1/2"X4" 0'-6" 3 SHOP PRIMER A36
w26 1 FL1/2"X9" 0'-9" 11 SHOP PRIMER A36
4 5/8"d WEDGE_ANC BOLT 0'-1 3/4" Site
1 3/4"@ A325N BOLT 0'-2 3/4" Site
TOTAL WEIGHT THIS DRAWING 1346
FOR APPROVAL ONLY
NOT FOR FABRICATION
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
A&D FABRICATORS
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION COLUMN ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/19/2020 4




116"
118"D

=
3

N
=i

p41l
TYP
B-B

1%, 13, 1%
w26 N
her
Ra ©
Ol= = =4
o T
? il i
' O
;"%
=
—
3.3 TYP
A-A
A
v

16'-103 (HSS6X4XY4 x 16'-95R)

15-71 |4l

RD

h81

South

1~ COLUMN ~5C1

21146

3%6
P9 —
g
-~
—
o e
+
™
Y
9
0 Y
™ h E
ol
= |
T et i
— 1
I
|
I
|
|
|
|
I
I
|
|
|
|
|
I
I
|
I
|
|
|
|
I
D 1
] .
|
I

21146

3%6

(1316"x1") SLOTS

= ~1316'0
p3

1843 (HSS6X6X Y4 x 18'-4% )

2 2
Tox Ton
™ (40]
< po /& =
— —
N N
c-C (1316"x1") SLOTS
1y TYP
(V]
—
134 . 1136
_ i _
C | C
™ —
= i 2
QT” / @
d o
- p9 (N/S) =
S
| =
' p3(N/S) o
. S
I pl
| N
!
||
|
21415 |+ |3%5
i
|
|
!
|
|
|
|
|
|
!
!
|
g
B 1
= |
|
| (|
i 2|
!
|

1~ COLUMN ~5C2

(13h6"x1") SLOTS

TYP
| 2
/HR P9 F
AN
13/16"Q7 \pZ
21316 2316
i
D-D
23y 21,
115 13
p26 : p26 ; 5 <TYP
N\‘ [ |
9 — D—r Dt+—3%
g \i‘l < v A L&ﬁ:
A e
- - <
%i. | % o \ ;%O —
1 Y /
N b2 o PINS) T
I + X — —
- i- < - |
1 a 1
| Q || Ya
1 ':| 1
| ! !
i 21346 i 2346
|
| c}‘ﬁ |
| N |
1 m 1
| — |
1 e '
[ 5 [
| x |
i X i
Lo
] U‘) ]
| wn |
i < i
| 5 |
| ; |
[ — [
| |
[ [
i i
i i
| |
| gl |
| =
[ [
| A | A
i 2, i 2,
i i
| |

1 ~ COLUMN ~5C3

TYP
1146"@
p41l
&Y |
X i
ﬁn\l AN
3
n\\ h81
7/8"g w26
G-G
L 4 4
p28 ' <P
I /Z
I~
hgl — '
!
w26

p4l

6
1]/2 3 1]/2
p28
i+
2 5 NakinE
— L l._)
+14
5
3|3
E-E
p28 :
E él i |
hg1 !
iG |
p41 I\
e
) .
N |
;F,T w26 i
ED 1
— |
!
!
x |
P i
© .
— |
X 1
= |
x i
<
>< 1
© |
) '
7%, |
1_" '
< i
O 1
Fli |
2 |
H 1
|
|
=
5 '
2 |
|
|
|
|
A |
2, i
!
|

2~ COLUMN ~5C4

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
5C1 1 COLUMN SQ-2
5C1 1 HSS6X4X1/4 16'-9 5/8" 246 SHOP PRIMER A500-GR.B
h81 1 HSS4X4X1/4 0'-3 1/2" 3 SHOP PRIMER A36
p28 1 FL3/4"X6" 1'-0" 15 A36
p41 1 FL1/2"X4" 0'-6" 3 SHOP PRIMER A36
w26 1 FL1/2"X9" 0-9" 11 SHOP PRIMER A36
4 5/8"d WEDGE_ANC BOLT 0'-1 3/4" Site
1 3/4"@d A325N BOLT 0'-2 3/4" Site
5C2 1 COLUMN SQ-2
5C2 1 HSS6X6X1/4 18'-4 9/16" 328 SHOP PRIMER A500-GR.B
pl 1 PL3/8"X10 1/4" 1'-0" 13 A36
p3 1 FL3/8"X4" 1'-0" 5 A36
p9 1 FL3/8"X4" 0'-6" 3 A36
p27 1 FL3/16"X6" 0'-6" 2 A36
5C3 1 COLUMN SQ-2
5C3 1 HSS5X5X1/4 18'-4 9/16" 269 SHOP PRIMER A500-GR.B
p2 1 PL3/8"X9 1/4" 1'-0" 12 A36
p9 1 FL3/8"X4" 0'-6" 3 A36
p26 1 FL3/16"X5" 0-5" 1 A36
5C4 2 COLUMNS SQ-2
5C4 2 HSS6X4X1/4 16'-9 3/8" 491 SHOP PRIMER A500-GR.B
h81 2 HSS4X4X1/4 0'-3 1/2" 7 SHOP PRIMER A36
p28 2 FL3/4"X6" 1'-0" 31 A36
p4l 2 FL1/2"X4" 0'-6" 6 SHOP PRIMER A36
w26 2 FL1/2"X9" 0'-9" 23 SHOP PRIMER A36
8 5/8"d WEDGE_ANC BOLT 0'-1 3/4" Site
2 3/4"@d A325N BOLT 0'-2 3/4" Site
TOTAL WEIGHT THIS DRAWING 1472
FOR APPROVAL ONLY
NOT FOR FABRICATION
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
A&D FABRICATORS
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION COLUMN ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/19/2020 5




a1 3|3 @l 3 D188 @13 BB R 13333
mAA mA MAA mA mAAAA mAAAA
o o o o o o
9 3 3 3 3 3 3 s ©
X < < < < < < Z
< nd nd nd nd @ ad o nd nd @ @ o m_ %
S Ll Ll L L N} L L L Ll 1N} L L o a
m = = = = = |2 = |2 = |2 = |2 \
o @ @ o o x| x| o x| o x| o o|uw
o o a a al|la al|la ala oala N _N
a5 s |3 |3 v[5]5 5151 .. v[5]5 oS ol o 3|a
ol ol ol T ol olzT| Il == ol | IT|lT|=]|=
(9] (%)) wn (%)) (%)) wn (%)) n n (%)) n (%)) n (%)) " [9)] n (%)) (%)) (%)) n (%))
_T S|3]- S|3 NS © 3| & 2113173 2114814 S
L N N <t <t N N o
<|g ) :
Z
al :
Q
LLl | < ANE 0|5 oo |5 olaulolola]|s]: olulolola|s|x| |2
= 213l a ® | 4 dl a9l a ® | 4 ISR IR T P N S B slald]la]ld]|o]| @ =
—|o© = e 5 =) e > 2| o ol 2|y ol S
> b © M I x| o ol|o | o o|o 2
E _t — ! — — —
|3 & G o —
M % >0
I .
~ = = S >
n - oh Ad m
S O S|«
w LDn ™ N
Z = < M (W<
>a — 0 (3
| O - - = OA NI ol
_ n 3 3 = L i<yl o
o 0 o (@) R -l .7 - |\
— | G 0 3 = Al g a) Z|IL oo
o z |5 z |5 o C X 1= [« |2
<| 0O <| 0O O ©) R ~
< < s s A oz A E 0|z X & RNOnd_uANnWﬂ
o = = — %) — H = wn — — — — o)
< N L0 Py = < N L0 < = < < = = = N < < = = = o A i
s12l21al (2118 (218|215 (21218 (2212 5(2|%|2|2| |E|2|5(8|2|8|25]¢2 eJe, =(5|m Q[P |2 |2 |°
OD|w]lo]|d i N OD|lw]l o] 4 SD|lo | = Dol sl lalals Dlol sl lalals (O = N
2lolsls 210l S Jlaols|e Jlals Jlaololasls]ls| ]z Jlalolasls]ls| 2]z WL Z el B 7))
ol | o] ol | w Ol T || ol T | OolT |||l jlr|lv|om Ol | IT|jnrjlnr|jlr|lwv|om 0| x _| w
7)) nZ|0|<Z
W Al 9] 4|~ Al 9|~ Nl NN N N BN EEE BN BN EEE B K Al Al Al 9] 9] ] <] < 2] % D OA [ W m AWn
o o 04
— z|l@1z]|o
7N 52w
o o288 S| 8 A R S| 8 S12[&]3]8 S18(8]1%|8 .10 B<|2|8 |3 |k
whu ﬂ% Q Q%p %% o M%p %&hppw %%hppw O%Als%mﬂ“DDuADn
> © © © © © ©
|
9 9 _H ik
5
A I
401 4| o T e -
™ == a—-— T Z
S o A UHON
N 1
5 Y
(e 0]
N o +
o
_ M\ﬁk M
KT 6 9T H"V M.D._
0-.T
=, .
v | pL-€T ay e
l
z
=
>
(866-VT X VX¥X9SSH) 840T-T m
)
l
© —
% N
2 = S
5 X
N
+ o
) o |
i 1_9_ .LL-
z |+ + o~
b A=
= S ©
o = S5 Q 2
V| o
T
N\r_”v N\Hv
_G
e8]
P4 _E
= @
+ 04 /
©| ™ - —i-— _ ................................................................... -
FI_L +
ww__ _ X UHON
- ~
hT 6 hT
©
0-.T <
i W Lo
LL
V_G.mm m
"2yl grs-eT ad >
=
)
— —
@ O
\ (866-VT X Y X¥X9SSH) 840T- T mv
7\ i
Q
o
o
- o SHE
© - 1 ¢
& Ak x4
(Q\]
P m
o 1 N UHON
2 g 2
o
O
(9T{1T-9T X YEXSXSSSH) 8, T-9T e
l
T T W
clele]l ] 8oaT 2 X
N © m —
F S ~
, o~ ™
5 + >
AR 5
||||||| e — <
<
& ! ! o)
< | ©
4 4+ 4+ ¢+ 8 v, 8 ~
-¥T X - z
3 -~ 7n; 6 (866-¥T X VrX¥X9SSH) 810T-T =
L0
S o 0T o o
K=, >
8 e C Q
N\._”_H N\._”_” [ %_
TTelelel ] 8eo-s1 ay n
<
&
o
o
Vl
T
m M
i)
N
\\ 3 YUON f
©
& o ] 9 | 9
NN
o N
ur _ _A
9 )8 o ol o + i+ <
Th1T-8T X VEXSXSSSH) 8, T-8T Qo _
ht h 1L S L + < - _
z X 8¢
i jids = ~ GUON S
rlel el el | 8oLt o) _A v
N O 4T 6 > pa
l
2 . + + 9+ ¢ 0-7 (86-9T X VAX¥X9SSH) 8;0T-.9T 3
T 7
||||||| - -.-— - - —.e—-e—. - —_-.—- -« - —-. - —_-.—_-—- - e —_—_ —_——_ — e — e — e — e — e — e — e — e — - —{ — - — o
i~ I I - -
2
A4 4+ 4 %,/ 3
F " <
< B r N
o o 4
el e S
Nﬁ_” 4T <
Tlelelel 1 8e0-2T ay B




1% 43 43, 11
P26 —
N

SRS
}iﬁ + '! 5
o MR o
e
© ST+ 3
& 07 | TYPE‘Q

i

I

i

i

i

i

i

|

!

i

i

i

i

i

!

I

i

i

i

i

i

i e

!

I

1617 (HSS5X5X Y4 x 16'-11Y6)

1~ COLUMN ~7C1

2316 2136
/a—l7<TYP
p7
I
i
i
!
I
i
i
i
i
i
i
!
!
i
i
i
i
!
I
|
s |
S |
i
i
i
!
I

TYP

6
15| 3, 111p
p28
=
— /
Ra
' _ O
o o _C1T -
A (-
! O
+ |+
=
—
3|3
A-A
p28 p28
A A |
v i
i
I
!
!
|
|
= |
a 1
— [
Fli '
) |
H 1
x !
= |
>< 1
N |
X I
(o} 1
0 |
) '
L |
=d i
Cl) '
in I
H 1
|
g |
B 1
S
|
|
[
I
I
!
I

1~ COLUMN ~7C2

1% | 5%y | BYy | 125
p27
T _ - N
o B
™ + i + ™
Av;‘;—: —4 _!_ + q‘-:
o] ps i 10
TYP |
i
i
i
i
i
i
i
!
I
i
i
i
i
!
I
i
i
i
i
i
2, i
!
I

21146 3%s6
TYP i
I
P8

I

I

I

I

I

— |

O 1

S I

H 1

i I

-© 1

- |

% i

5 '

X I

© '

=S I

7 i
(0))

I !

© I

~ '

N I

ao 1

- I

I

I

I

|

£ |

o 1

> |

I

I

I

I

I

1~ COLUMN ~7C3

p27

(1316"x1") SLOTS

[(o]
—~
f 14 o
VP> O /h\ P Y
w1 ep12
13460
21, 23
c-C
21346 2316 21, 23
1116
P26~ 1Y p26 :
1 2 1
\ | o
A C C
ST < v ] S
= ;cr\' m -~
fras
F | o | o
L[]+ = p12 = -
/ | o ! p14 (N/S) =
pl2 | o I -
1 ﬂ 1 N
B | L=
! !
i | e
| © |
! 3 !
! 3 !
| x |
1 q. 1
| x |
[ é [
| 0 |
1 wn 1
| z |
1 (00} 1
| % |
: 3 :
| |
| |
! !
! !
| |
| g |
! 2| |
| |
| (| | (@)
i 2 i 2,
! !
| |

1~ COLUMN ~7C4

BILL OF MATE

RIAL

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
7C1 1 COLUMN SQ-2
7C1 1 HSS5X5X1/4 16'-1 11/16" 236 SHOP PRIMER A500-GR.B
p7 1 FL3/8"X12" 1'-0 1/2" 15 A36
p26 1 FL3/16"X5" 0'-5" 1 A36
7C2 1 COLUMN SQ-2
7C2 1 HSS6X4X1/4 14'-11 3/8" 219 SHOP PRIMER A500-GR.B
p28 1 FL3/4"X6" 1'-0" 15 A36
7C3 1 COLUMN SQ-2
7C3 1 HSS6X6X1/4 16'-1 11/16" 288 SHOP PRIMER A500-GR.B
p8 1 FL3/8"X9" 1'-11/2" 13 A36
p27 1 FL3/16"X6" 0'-6" 2 A36
7C4 1 COLUMN SQ-2
7C4 1 HSS5X5X1/4 16'-4 3/16" 239 SHOP PRIMER A500-GR.B
pl2 1 FL3/8"X9" 0'-9 1/4" 9 A36
pl4 1 FL3/8"X4" 0'-9" 4 A36
p26 1 FL3/16"X5" 0'-5" 1 A36
TOTAL WEIGHT THIS DRAWING 1042
FOR APPROVAL ONLY
NOT FOR FABRICATION
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION COLUMN ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/19/2020 V4




(40] (0]
(40] (0]
\ \
13/16-@/ \ I 134 5"
RD 2-8% | PI6(F/S) 8'-85% —pl6 (F/S) 16"
TYP
1% 11'-10
%T/ _ =
(-3Ys) W12X14 x 11'-11% (-3Ly)
1 ~ BEAM ~ 8B1
1% 16'-10
| ki
(40} (40}
(40} (40}
(40} (40}
| ! @
\ N \ B
13/16"®/ \ \ \ ;T‘r
—pl6 (F/S) TYP “pl6 (F/S) —pl6 (F/S) in
RD 2'-254 -250g 14'-254
(-3Ys) W12X16 x 16'-111 (-3L)
1 ~ BEAM ~ 8B2
1 29'-4
% B — |
™ ™
™ ™
™ ™
N+ + N
@ /*— 1 1 ;‘ 1 } -k\ @
I
/ 3 3 L 3 L \
1316"0 ) ) . | . 1316"@
\ TYP \ " l6 (FIS) \ ‘- pl6 (F/S)
RD 285 | ~PI6 (F/S) g-g5 | ~PI6 (F/S) 14'-85% 20-85 | ~PI6 (F/S) 26'-8%
(-314) W16X26 x 29'-5% (-3%s)
4 ~ BEAM ~ 8B3
11 16'-4
T 13/16"®
™ (42)
(42) ¥ (42)
(42) (42)
A A A
57 /l \ I\ N \13/16"@
— \ \ \
T e \ \ \
"~ pl6 (F/S) "~ pl6 (F/S) "~ pl6 (F/S)
RD 2'-89% 8'-8% 14'-8%g
(-3Yp) W14X22 x 16'-5% (-3%s)
1 ~ BEAM ~ 8B4
(0] (0]
(0] (0]
(0] (0]
b }
4 \
1316"@ / TYP % \ \ \ 1346"@
—pl6 (F/S) —pl6 (F/S)
RD 3'-89g 9'-853
1% 12'-4
%T/
(-3Ya) W12X14 x 12'-5% (-3Ly)
1 ~ BEAM ~ 8B5
o™ o™
o™ o™
o™ o™
RD
RD
13*2 9'-41jg
(-31) W12X14 x 9'-55g (-3%)

1 ~ BEAM ~ 8B6

11
13/16"®
< al
G |
™ . ‘: .
Ve
1
a MTYP
A-A

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
8B1 1 BEAM SQ-2
8B1 1 W12X14 11'-11 1/2" 169 SHOP PRIMER A992
pl6 2 FL1/4"X4" 0'-4" 2 SHOP PRIMER A36
6 3/4"@ A325N BOLT 0'-1 3/4" Site
8B2 1 BEAM SQ-2
8B2 1 W12X16 16'-11 1/2" 272 SHOP PRIMER A992
pl6 3 FL1/4"X4" 0'-4" 3 SHOP PRIMER A36
6 3/4"@ A325N BOLT 0'-1 3/4" Site
8B3 4 BEAMS SQ-2
8B3 4 W16X26 29'-5 1/2" 3080 SHOP PRIMER A992
pl6 20 FL1/4"X4" 0'-4" 23 SHOP PRIMER A36
32 3/4"@ A325N BOLT 0'-1 3/4" Site
8B4 1 BEAM SQ-2
8B4 1 W14X22 16'-5 1/2" 364 SHOP PRIMER A992
pl6 3 FL1/4"X4" 0'-4" 3 SHOP PRIMER A36
6 3/4"@ A325N BOLT 0'-1 3/4" Site
8B5 1 BEAM SQ-2
8B5 1 W12X14 12'-5 1/2" 176 SHOP PRIMER A992
pl6 2 FL1/4"X4" 0'-4" 2 SHOP PRIMER A36
6 3/4"@ A325N BOLT 0'-1 3/4" Site
8B6 1 BEAM SQ-2
8B6 1 W12X14 9'-5 5/8" 134 SHOP PRIMER A992
6 3/4"d A325N BOLT 0'-1 3/4" Site
8B7 1 BEAM SQ-2
8B7 1 W12X16 20'-7 1/8" 330 SHOP PRIMER A992
al 2 L4X4X3/8 0'-6" 10 A36
4 3/4"d A325N BOLT 0'-2" Site
3 3/4"@ A325N BOLT 0'-1 3/4" Site
TOTAL WEIGHT THIS DRAWING 4569
(V]
—
Iy
15| 31, 20'-37lg
B
|A 1346"D
=N \% ™
o ‘:p"\' o™
™ ™ ™
al (B/SS)
GOL 253
5% CIC EAl
RD 20'-61/
[
.B
(-Yg) 20'-7%6 (W12X16 x 20'-71g) (-3%)
1 ~ BEAM ~ 8B7
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
FOR APPROVAL ONLY SAN ANTONIO, TX 78233
NOT FOR FABRICATION DESCRIPTION BEAM ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/19/2020 8




RD
132 9'-41g
13/16"® 13/16"®
™ ™
™ ™
™ ™
(-344) W14X22 x 9'-554 (-3%%)
1 ~ BEAM ~ 9B1
RD
1% 20'-215%6
1 —_—
136D / 1316"@
o (0]
¢ I
(0]
(-3%) W14X22 x 20-47h6 (-31)
1 ~ BEAM ~ 9B2
1-0 | 5%
1360~ 196"
(90] ™ (90]
+ + 0
© (90]
© (90]
© (90]
(90] -k\ o
13/16"®
RD |
11 30'-10
d _— =
(-3Yg) W21X44 x 30111 (-31y)
1 ~ BEAM ~ 9B3
4-0 | 5% 016
NN
™ ™ ¥/ ™
o™ ™ ™
™ ™ o 2
p16/ | |
™ o™
™ o™
A-A
= 1316"@ A-A
RD |
1% 294
i R —
(-3%) W21X44 x 29'-51 (-314)
1 ~ BEAM ~ 9B4
13/16"®
® (9]
® (9]
® (9]
® (9]
® (9]
® (9]
136"
RD
11 29'-4
(-3Ly) W21X44 x 29'-51 (-3Ly)

4 ~ BEAM ~ 9B5

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
9B1 1 BEAM SQ-2
9B1 1 W14X22 9'-5 5/8" 209 SHOP PRIMER A992
6 3/4"d A325N BOLT 0'-1 3/4" Site
9B2 1 BEAM SQ-2
9B2 1 W14X22 20'-4 7/16" 450 SHOP PRIMER A992
6 3/4"@ A325N BOLT 0'-1 3/4" Site
9B3 1 BEAM SQ-2
9B3 1 W21X44 30'-11 1/2" 1370 SHOP PRIMER A992
12 3/4"d A325N BOLT 0'-2" Site
9B4 1 BEAM SQ-2
9B4 1 W21X44 29'-5 1/2" 1303 SHOP PRIMER A992
12 3/4"d A325N BOLT 0'-2" Site
9B5 4 BEAMS SQ-2
9B5 4 W21X44 29'-5 1/2" 5213 SHOP PRIMER A992
48 3/4"@ A325N BOLT o-2" Site
9B6 1 BEAM SQ-2
9B6 1 W14X22 26'-7 3/16" 587 SHOP PRIMER A992
pl6 6 FL3/8"X2 1/4" 1'-11/8" 19 A36
8 3/4"@ A325N BOLT 0'-2 1/4" Site
6 3/4"d A325N BOLT 0'-1 3/4" Site
9B7 1 BEAM SQ-2
o9B7 1 W14X22 8'-4 3/8" 185 SHOP PRIMER A992
6 3/4"@ A325N BOLT 0'-1 3/4" Site
TOTAL WEIGHT THIS DRAWING 9336
9'-8"he B%6 20'-51g 26'-736
RD GXI
51
li-/z B <TYP 26'-51116
2- 16 (B/S) p16 (B/S) 1”‘2
™ \4 \ ,/ ™
(e} (e}
(e} (e}
I I
9-7lhe | |7 20'-1%g 9
A A
1, s
(V]
—
(V]
&{ -
267316 Uy
1 ~ BEAM ~ 9B6
RD
1% 8'-27k
/ﬁ _ =
13/16"g
o o
o o
o o
(-37k) W14X22 x 8'-43g (-33l)
1 ~ BEAM ~ 9B7
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
R APEROVALONY, [ SANRARTORIS, B rmzon
DESCRIPTION BEAM ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/19/2020 9




RD 3446
y y
11 372 GXI 13
13/16"®
) a2
N N
. 3 #
— /e
o ™ ™ ™ |
— o ||| ®
™ ™ ™ ol
/*' ]
13 g a2 (B/S /
he'? GOL 2538 a2 Dve
51p CIC ]
(-315h¢) 34'-4Y (W16X26 x 34-33) 2 A-A
¥ e
Ya
1 ~ BEAM ~ 10B1
RD
1% 2243
%
" 1316"@
o (90]
o # (90]
o (90]
(-3%1) W14X22 x 22'-51%6 (-3%)
1 ~ BEAM ~ 10B2
RD e .
1% 101178 2 _8-3
T 136" 1316"0
. o (90 (40]
. o (90 /*_ (40]
13/16"g/ LY °
=l
" 1/ h
(-33g) W14X22 x 11'-13g (-3g) 427 pl6 (N/S) )
1~ BEAM ~ 10B3 (-33) W14X22 x 8'-41 (-334)
1 ~ BEAM ~ 10B4
26'-5
9'-10%46 20'-0146 26'-5
1% 26-3% | | 115 11h
11
TYP AN pl5 1346"@
B| 1316"@ SV
p15 (B/S) 16 X - -
o™ ™
™ ™ ﬁ
(@]
™ ™
‘K \ \ \ e 1916"0 (-338) W10X12 x 11 (-31116)
\ — 1
1 ~ BEAM ~ 10B6
1316"@ pl6 pl6 ﬂ ol6 pl6
< pl6 P
RD 9'-634 19'-73 9 26'-5 1Ya| 13 1Y,
= \ |
1'-2% 7'-2Yg 13-21 19'-21 25'-21g B-B
1 ~ BEAM ~ 10B5
115 4'-5Y6 14'-6Y6 24'-91
p15 Il — C =TI
TYP» p15 (B/S) p15 (B/S)
\ ™ / ™
™ \ ™
™ ™
( ™ ™
e .R .& F .&
p15 1 A ) IR
1) | 3] |11 \ ) '
' pl6 (F ' \ ' \ ' —pl6 (FIS
T RD 2-g%  PIOFS) 8-8% | pl6 (F/S) 14-8% | | 6 (F/s) 2085 | PO
c-C QJC
4'-03)y 9 14'-23) 7
(-3Ly) W16X26 x 24'-11 (-330)

1~ BEAM ~ 10B7

BILL OF MATE

RIAL

FOR APPROVAL ONLY
NOT FOR FABRICATION

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
10B1 1 BEAM SQ-2
10B1 1 W16X26 34'-3 3/4" 897 SHOP PRIMER A992
a2 2 L4X4X3/8 0'-9" 15 A36
6 3/4"@ A325N BOLT o-2" Site
4 3/4"d A325N BOLT 0'-1 3/4" Site
10B2 1 BEAM SQ-2
10B2 1 W14X22 22'-5 11/16" 496 SHOP PRIMER A992
6 3/4"@ A325N BOLT 0'-1 3/4" Site
10B3 1 BEAM SQ-2
10B3 1 W14X22 11'-1 3/8" 246 SHOP PRIMER A992
6 3/4"d A325N BOLT 0'-1 3/4" Site
10B4 1 BEAM SQ-2
10B4 1 W14X22 8'-4 1/2" 185 SHOP PRIMER A992
pl6 1 FL1/4"X4" 0'-4" 1 SHOP PRIMER A36
6 3/4"d A325N BOLT 0'-1 3/4" Site
10B5 1 BEAM SQ-2
10B5 1 W16X31 26'-5" 821 SHOP PRIMER A992
p15 4 FL3/8"X2 1/2" 1'-3" 16 A36
pl6 5 FL1/4"X4" 0'-4" 6 SHOP PRIMER A36
8 3/4"@ A325N BOLT 0'-2 1/4" Site
8 3/4"d A325N BOLT 0'-1 3/4" Site
10B6 1 BEAM SQ-2
10B6 1 W10X12 0'-11" 11 SHOP PRIMER A992
4 3/4"@ A325N BOLT 0'-1 3/4" Site
10B7 1 BEAM SQ-2
10B7 1 W16X26 24'-11" 651 SHOP PRIMER A992
p15 4 FL3/8"X2 1/2" 1'-3" 16 A36
pl6 4 FL1/4"X4" 0'-4" 5 SHOP PRIMER A36
8 3/4"d A325N BOLT 0'-2 1/4" Site
8 3/4"@ A325N BOLT 0'-1 3/4" Site
TOTAL WEIGHT THIS DRAWING 3365
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION BEAM ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/19/2020 10




4-5%0 14-11%s 25-0%hs BILL OF MATERIAL
1Y G—I 29'-4
“/‘2 A MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS
/9<TYP p15 (B/S) p15 (B/S) p15 (B/S)
/ - 7 \ 7 - 11B1 1 BEAM SQ-2
. . 11B1 1 W16X26 29'5 1/2" 770 SHOP PRIMER A992
p15 /p15 - o - - —
\ p15 6 FL3/8"X2 1/2 1-3 24 A36
" « N F [ ? { e pl6 5 FL1/4"X4" 04" 6 SHOP PRIMER A36
—— 1 J‘\ A J‘\ ! 12 3/4"@% A325N BOLT 0-2 1/4" Site
' \ ' \ 8 3/4"@ A325N BOLT 0-1 3/4" Site
" pl6 (F/S) \ " pl6 (F/S) \ —pl6 (F/S)
y y —pl6 (FIS) —pl6 (FIS)
194] 3 | 14 4-13, 9 1473 || 7 24'-73), 9
! N ! A‘ 11B2 1 BEAM SQ-2
Qﬂ 11B2 1 W16X26 29'-5 1/2" 770 SHOP PRIMER A992
RD 2'-89g 8'-89g 14'-8%g 20'-89g 26'-89g
=~ — ] — — = — = p15 6 FL3/8"X2 1/2" 1-3" 24 A36
(-3%2) W16X26 x 29'-5% (-3Ys) pl6 5 FL1/4"X4" 0-4" 6 SHOP PRIMER A36
12 3/4"@ A325N BOLT 0'-2 1/4" Site
1~ BEAM ~ 11B1
8 3/4"@ A325N BOLT 0-1 3/4" Site
1182 1% 4-516 14'-6Y16 24'-11%¢ 29'-4 1183 1 BEAM SQ-2
g | 11B3 1 W16X26 29'-5 1/2" 770 SHOP PRIMER A992
p15 6 FL3/8"X2 1/2" 1-3" 24 A36
™ / \ / ™ pl6 5 FL1/4"X4" 0-4" 6 SHOP PRIMER A36
« @ 12 3/4"@ A325N BOLT 0'-2 1/4" Site
p15 ™ ™ )
\ - - 8 3/4"@ A325N BOLT 0-1 3/4" Site
‘ ) ) b >
o 1 1) | IR
11B4 1 BEAM SQ-2
" pl6 (F/S) \ )
1Y% 3] 1Y, P B \\ -pl6 (F/S) 11B4 1 W14X22 21-11" 484 SHOP PRIMER A992
1 03 —pl6 (F/S) 03 ~pl6 (F/S) —pl6 (F/S) 7
B-B 4'-09% 9 14'-29 | 7 24'-7 9 p16 4 FL3/8"X2 1/4" 1-11/8" 13 A36
pl6 4 FL1/4"X4" 0-4" 5 SHOP PRIMER A36
g5, g5, a5, a5 "~
RD 2-8% 8-8% 14'-8%g 20-8% 26'-8%% 8 3/4"@ A325N BOLT 0-2 1/4" Site
(:31) WL6X26 x 2951 (:31) 6 3/4"@ A325N BOLT 0-1 3/4" Site
1~BEAM ~11B2
11B5 1 BEAM SQ-2
11B5 1 W12X14 6-11" 08 SHOP PRIMER A992
q—| pl6 1 FL1/4"X4" 04" 1 SHOP PRIMER A36
1i/2 4516 C 14'-10Y%16 25'-0¥16 29'-4 6 3/4"@ A325N BOLT 0-1 3/4" Site
p15 (B/S) 015 (B/S) p15 (B/S)
p15 \ /p15 TOTAL WEIGHT THIS DRAWING 2999
™ / / ™
\
TYP» ’ ™ \ ™
(40 (90
\ (40 l“ (90
1. 1 E\ ] !
\ li
\ \ / \
\ \ pl6 (F/S)~ / - pl6 (F/S)
pl6 (F/S)—
iR 403 | 9 TP —pl6 (F/S) 14634 | | 7 2473 | 9
1 | - K CI
— RD 2'-85 —pl6 (F/S) 8'-85g 14'-85 20'-85g 26'-85g
(-3%) W16X26 x 29'-51 (-3Y4)
1~ BEAM ~ 11B3
132 10'-21416 20'-5146 21'-91h
11B4
p16 (B/S) p16 (B/S) 4 D|
pl16 0/ pl16
® \ \ °° wp»\ , ® ®
o™ o™ (90 (90
AN
| | |
/{ ) /{ /{ - - 1316"0 /| INGCINAN \ N\ 1316"@
| \ / / (o) /V L
| \ | / 1/ L?H RD p|6 (F/S)
pl6 (F/S)- NS ~pl6 (F/S) pl6 (F/S) - / EA = »'.85f .
TYP / 20'-03/ 11 6-91%
v 0l6 (F/S)— 4, 9 D 1131 -
D-D
-3]1/4 W12X14 x 6'-11 -33/4
RD 1'-21g 7'-2%g 9'-1034 7 13'-2%g 19'-2%g 1058 (3%) (3%)
1~ BEAM ~ 11B5
(-333) W14X22 x 21'-11 (-3Y4)
1~ BEAM ~11B4 0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
FOR APPROVAL ONLY
NOT FOR FABRICATION DESCRIPTION BEAM ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 11




5 S PR 5

N N N

mﬂi ||_—,,_, N ; \ " = == o =< :%:
N\

E < \ E
3 S ~pl2 3
RD 7'-11%¢ 17-7%

26
6916
~
TYP
81316 6%16
~
—
s pl2 s
8-4% | 5% 17-7%
17'-718

1 ~ CROSSBRACING ~12CX1

5%g

]

2%6, 3 |2%6

8'-1'he
534
Ay 7'-034 'he 8%he
|
1 ~ CROSSBRACING ~ 12CX3
. 8llg 6'-2316 6
© Sl
—~ ©
3 &
— N
o™ | -
S S
& >
— N
N
7'-5316
9ljg 5lg
84y 6'-53 Y5 3%
| 1

1 ~ CROSSBRACING ~ 12CX5

2%6 | 3 |2%s6

711/16 ) 41/4
3 S
D 'y
(9\] N
o I —
| | -
3 S
D D
AN AN
7'-115/8
7%6
450 7-2%6 41,
i ‘

1 ~ CROSSBRACING ~ 12CX2

2%6

2% 3/5 2%6

=
R
935 61316
9316 7
534 12'-4%6 5/j6 715
6 i
13'-519¢
1 ~ CROSSBRACING ~ 12CX4
95g 81,
= =
Lo Lo
~ N
P — —
g g
i i
18'-711}¢
916 8'he
53 17'-615 6196
e Ne
1 ~ CROSSBRACING ~ 12CX6
© ©
—~ —~
Lo Lo
(\I (\I
ot ===<ﬁ%°°g:
© ©
—~ —~
R R
61346 J 1096
6 W 16'-4%6 1y 6
il
17'-51/8

1 ~ CROSSBRACING ~ 12CX7

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
12CX1 1 CROSSBRACING SQ-2
12CX1 1 HSS5X5X1/4 17'-7 1/8" 257 SHOP PRIMER A500-GR.B
pl2 2 PL3/8"X12" 1'-1" 24 SHOP PRIMER A36
12CX2 1 CROSSBRACING SQ-2
12CX2 1 HSS5X5X1/4 7'-11 5/8" 117 SHOP PRIMER A500-GR.B
12CX3 1 CROSSBRACING SQ-2
12CX3 1 HSS5X5X1/4 8'-17/16" 119 SHOP PRIMER A500-GR.B
12CX4 1 CROSSBRACING SQ-2
12CX4 1 HSS5X5X1/4 13'-5 15/16" 197 SHOP PRIMER A500-GR.B
12CX5 1 CROSSBRACING SQ-2
12CX5 1 HSS5X5X1/4 7'-5 3/16" 109 SHOP PRIMER A500-GR.B
12CX6 1 CROSSBRACING SQ-2
12CX6 1 HSS5X5X1/4 18'-7 11/16" 273 SHOP PRIMER A500-GR.B
12CX7 1 CROSSBRACING SQ-2
12CX7 1 HSS5X5X1/4 17'-5 1/8" 255 SHOP PRIMER A500-GR.B
TOTAL WEIGHT THIS DRAWING 1351
FOR APPROVAL ONLY
NOT FOR FABRICATION
0 ISSUED FOR APPROVAL 01/20/2020

REV DESCRIPTION DATE

13710 JUDSON RD.

SAN ANTONIO, TX 78233

DESCRIPTION CROSS BRACING ASSEMBLY

PROJECT NAME SANTA FE PLAZA

DRAWN BY DW. LLC. JOB No. DRG No.

DATE DRAWN 01/20/2020 12




296

2516, 38

1'-6

1 ~ CROSSBRACE PLATE ~ 13CXP7

2 ~ CROSSBRACE PLATE ~ 13CXP3

1'-2

1 ~ CROSSBRACE PLATE ~ 13CXP8

2 ~ CROSSBRACE PLATE ~ 13CXP4

1096

1 ~ CROSSBRACE PLATE ~ 13CXP9

6 1 14'-0% ‘ 411
© pl1 ©
~ o —
S < < 3
N | / |
/ Of)oo | ] = — =\:I &
\
ol o\, ~ —pl1 N
53, N 4156 6196
3l 715
N
—
<
[T9)
s\ 5
—e 5%6 Typ 715
P—— e
<
T9)
N
33 6 15-0%6 | 77he
o
36 3
14'-113g 7'-37lg_4%he pll 15'-83
1
1 ~ CROSSBRACING ~ 13CX1 15"83/8
1 ~ CROSSBRACING ~ 13CX2
5% | 5%6
5%6 J 715
© <
© o -
o o N
N \—
o =< o
| | ™ | ﬁg
#V
| g F
© Te) N
= N
2 51 5%
1'-456
7-47h
6 7'-1
71/4 8 ~ CROSSBRACE PLATE ~ 13CXP1
5%6
5'he [—
5%6 6'-3%6 3L 796
\ 1 59/16
1 ~ CROSSBRACING ~ 13CX3
51%6, e 67116
1 ~ CROSSBRACING ~ 13CX4
he
3
2"0 ﬁ/
10346 1|/ 1-07 1'-0
1 ~ CROSSBRACE PLATE ~ 13CXP2 4
2 ~ CROSSBRACE PLATE ~ 13CXP5 1 ~ CROSSBRACE PLATE ~ 13CXP6
N
1y A
103
N
—

BILL OF MATE

RIAL

FOR APPROVAL ONLY
NOT FOR FABRICATION

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
13CX1 1 CROSSBRACING SQ-2
13CX1 1 HSS5X5X1/4 14'-11 3/8" 219 SHOP PRIMER A500-GR.B
13CX2 1 CROSSBRACING SQ-2
13CX2 1 HSS5X5X1/4 15'-8 3/8" 230 SHOP PRIMER A500-GR.B
pll 2 PL3/8"X12" 1'-1" 26 SHOP PRIMER A36
13CX3 1 CROSSBRACING SQ-2
13CX3 1 HSS5X5X1/4 7'-4 7/16" 108 SHOP PRIMER A500-GR.B
13CX4 1 CROSSBRACING SQ-2
13CX4 1 HSS5X5X1/4 7'-1" 104 SHOP PRIMER A500-GR.B
13CXP1 8 CROSSBRACE PLATES SQ-2
13CXP1 8 FL3/8"X10" 1'-4 5/16" 139 SHOP PRIMER A36
13CXP2 1 CROSSBRACE PLATE SQ-2
13CXP2 1 FL3/8"X10" 2'-0" 26 SHOP PRIMER A36
13CXP3 2 CROSSBRACE PLATES SQ-1/BEV-1
13CXP3 2 PL3/8"X9 13/16" 0'-10 3/16" 21 SHOP PRIMER A36
13CXP4] 2 CROSSBRACE PLATES SQ-1/BEV-1
13CXP4 2 PL3/8"X9 13/16" 0'-10 3/8" 21 SHOP PRIMER A36
13CXP5 2 CROSSBRACE PLATES SQ-2
13CXP5 2 FL3/8"X10" 1'-0 7/8" 27 SHOP PRIMER A36
13CXP6 1 CROSSBRACE PLATE SQ-2
13CXP6 1 PL3/8"X12" 1'-0" 15 SHOP PRIMER A36
13CXP7| 1 CROSSBRACE PLATE SQ-2
13CXP7 1 FL3/8"X10" 1'-6" 19 SHOP PRIMER A36
13CXPS§] 1 CROSSBRACE PLATE SQ-2
13CXP8 1 FL3/8"X10" 1'-2" 15 SHOP PRIMER A36
13CXP9 1 CROSSBRACE PLATE SQ-2
13CXP9 1 FL3/8"X10" 0'-10 5/16" 11 SHOP PRIMER A36
TOTAL WEIGHT THIS DRAWING 081
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION CROSS BRACING ASSEMBLY
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 13




. BILL OF MATERIAL
h80 j
TYP ~ri1] - MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
s — = — = 14sC1 2 STUB COLUMNS SQ-2
16 TYP>—79/ 14SC1 2 HSS6X4X1/4 0-9 13/16" 24 SHOP PRIMER A500-GR.B
7 n
pal - A X h80 2 HSS4X4X1/4 0-41/2" 9 SHOP PRIMER A36
—
43 4%y 4 pa1 2 FL1/2"X4" 0-6" 6 SHOP PRIMER A36
‘ o~ I=§\
—pal B-B =) ~ Ninn}l b= p42 2 FL3/16"X4" 0-6" 3 A36
Ll o
21| |4k | 4% +|+ w26 2 FL1/2"X9" 0-9" 23 SHOP PRIMER A36
|
;3‘ 8 5/8"@ WEDGE_ANC BOLT 0-1 3/4" Site
/6 C - C " ' n H
S == 2 3/4"@ A325N BOLT 0-2 3/4 Site
11Y> (HSS6X4XY4 x 91316 p39 =
( ) i o - TYP 3 3
TYP : TYP ~ 39 = 1 1
GKI I —I ':+ I I o p31 I 14SC2 1 STUB COLUMN SQ-1/BEV-1
w26 (N/S) /11/16"@ I8"d hso I ﬂ p4l 5 | - — hao VC | C | 14SC2 1 HSS4X4X1/4 4-11/2" 47 SHOP PRIMER A500-GR.B
! N + ! + ‘: " '
) \f,—_ - 5 ' I 70 3 VL te= ==,i 031 I 11h6'd TYP I h80 1 HSS4X4X1/4 0'-4 1/2" 4 SHOP PRIMER A36
g < 1T =1 " : '
AL | 1y TN W) F T ] 70 I X6" 10"
iy gy . ? =\ = + X - B"D p4l . p39 1 FL3/4"X6 0-10 13 A36
412 /_ + - - 4 [ n - | | - \ |
P ¥ : ~ o ~ L II 3 \ 4 TYP pa1 1 FL1/2"X4" 0-6" 3 SHOP PRIMER A36
p41 | g T Y| w26 (N/S) 1e'g w26 = ~ =X !
! h80 :: < 16 — | 0 <t n ! g " on
| 5 = — | o, | w26 1 FL1/2"X9 0-9 11 SHOP PRIMER A36
TYP ' Q\ N N ' o N '
/| | 3 5 5 u | N 7 | 4 5/8'@ WEDGE_ANC BOLT 0-13/4" Site
A I X 5 I o SOTYP |
S 1-1 I § I N I ‘i' N I 1 3/4"@ A325N BOLT 0'-2 3/4" Site
- ' T 1 1 <t '
- | : | | 3 |
> — STUB COLUMN ~ 14SC1 I u*&'l' | I A I 14SC3 1 STUB COLUMN SQ-2
_ _~ 1 \ ' 1 5 1
! < % ' ! = ! 14SC3 1 HSS4X4X1/4 4-15/8" 47 SHOP PRIMER A500-GR.B
I | I I
- = ' o ' h80 1 HSS4X4X1/4 0-41/2" 4 SHOP PRIMER A36
| | | < g |
i | | Sl p31 1 FL3/4"X6" 0-10" 13 A36
' ()] ' () ! ]
| IIJ/ I n:i | | p4l1 1 FL1/2"X4" 0-6" 3 SHOP PRIMER A36
| |
: : ) I I ) I I w26 1 FL1/2"X9" 0-9" 11 SHOP PRIMER A36
x x
i | 4 5/8"@ WEDGE_ANC BOLT 01 3/4" Site
1~STUB COLUMN ~ 14SC2 ! !
I I 1 3/4"@ A325N BOLT 0'-2 3/4" Site
1~STUB COLUMN ~ 14SC3
14SC4 4 STUB COLUMNS SQ-2
14SC4 4 HSS4X4X1/4 4-1 3/8" 189 SHOP PRIMER A500-GR.B
415 5% h80 4 HSS4X4X1/4 0-4 1/2" 17 SHOP PRIMER A36
= L3 3 1 1%6
: S, p31 : p31 4 FL3/4"X6" 0-10" 51 A36
! O ! | 031 | RD
:+ﬂ_+: i - Al |59 pal 4 FL1/2"X4" 0-6" 13 SHOP PRIMER A36
. . 45%6
3|13 I R | w26 4 FL1/2"X9" 0-9" 46 SHOP PRIMER A36
i h&o RV e - e hgo |
o' + K I p31 ! ya the'@ | 1% 6 25 16 5/8"% WEDGE_ANC BOLT 0'-1 3/4" Site
, !
\hﬁ* N 11/ o 3 (44 ' ! "D pal ! TYP 4 3/4"@ A325N BOLT 0-2 3/4" Site
(L 16"0 R /Q I == ) | 4
+ ot I pal ! ' ' + '
< " : = N f ! w26 / i) = F N A |
S ' s 7 ' Ly ! ?o b A | N 145C5 1 STUB COLUMN SQ-2
- | ot ! 3 i M i 3 .
N I 3 N I - | <| % ! © 14SC5 1 HSS4X4X1/4 4-33/8 49 SHOP PRIMER A500-GR.B
! ! 5 | s S wee | et SEEEEEE --—
| % | & I VRN I h80 1 HSS4X4X1/4 0-41/2" 4 SHOP PRIMER A36
1 1 q_
I ] I | X TYP | p31 1 FL3/4"X6" 0'-10" 13 A36
1 T ! f (7)) 1
! ;‘org ! | @ I 10 (HSSBX4XY4 x 913%16) pal 1 FL1/2"X4" 06" 3 SHOP PRIMER A36
I I < '
' N . I o I i " on
| ) <l | I =N I 116" w26 1 FL1/2"X9 0-9 11 SHOP PRIMER A36
| Sl | " < " 8"D D 4 5/8"'@ WEDGE_ANC BOLT 0'-1 3/4" Site
' = ! g | h80 p42
' ' I ol | \ p4l —— / 1 3/4"@ A325N BOLT 0'-2 3/4" Si
1 1 =z | | | - ite
I I i i | | 4 —— ' |
@i i EJ/ i ' ' _ed._ 7 %700 S 2 T Y
. . | | ™ 1)
a ] ) - w26 (F/S)— [ ==, 14SC6 2 STUB COLUMNS SQ-2
| | g, | g | i E— 2
| | | | 1 14SC6 2 HSS6X4X1/4 0-9 13/16" 24 SHOP PRIMER A500-GR.B
4 ~ STUB COLUMN ~ 14SC4 | | 5D éﬂ h80 2 HSS4X4X1/4 0-41/2" 9 SHOP PRIMER A36
1 ~ STUB COLUMN ~ 14SC5 p41 2 FL1/2"X4" 0-6" 6 SHOP PRIMER A36
2~ STUB COLUMN ~ 145C6 p42 2 FL3/16"X4" 0-6" 3 A36
w26 2 FL1/2"X9" 0-9" 23 SHOP PRIMER A36
8 5/8"@ WEDGE_ANC BOLT 0'-1 3/4" Site
2 3/4"@ A325N BOLT 0-2 3/4" Site
TOTAL WEIGHT THIS DRAWING 683
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE

A&D FABRICATORS

13710 JUDSON RD.
SAN ANTONIO, TX 78233

FOR APPROVAL ONLY DESCRIPTION
NOT FOR FABRICATION PROJECT NAME | SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.

DATE DRAWN 01/20/2020 14




1'-0 (HSS6X4XYs x 9134 6)

111/16"@ X

1'-6'h6

3-4116

w26 (F/S)/

3'-6'he
A
| p42
—
ﬁ’=,,"|| 1 ™
A Lud ! ™
hd 1 1

A

3~ STUB COLUMN ~15SC1

3-716

1 ~ PARAPET HSS ~ 15PH5

44116

17 ~ PARAPET HSS ~ 15PH1

3936

2 ~ PARAPET HSS ~ 15PH10

3-101%6

1 ~ PARAPET HSS ~ 15PH15

1~ PARAPET HSS ~ 15PH6

4'-711 6

12 ~ PARAPET HSS ~ 15PH2

4'-0%16

1~ PARAPET HSS ~ 15PH7

4'-6316

1 ~ PARAPET HSS ~ 15PH3

4'-111 6

3-6316

1 ~ PARAPET HSS ~ 15PH4

2 ~ PARAPET HSS ~ 15PH8

2 ~ PARAPET HSS ~15PH11

2 ~ PARAPET HSS ~ 15PH12

4'-0116

BILL OF MATE

RIAL

2 ~ PARAPET HSS ~ 15PH9

4'-10131

1 ~ PARAPET HSS ~ 15PH13

31 ~ PARAPET HSS ~15PH14

] 2
o

30'-0

45/8 | 23/8

5 ~ PARAPET CHANNEL ~ 15PC1

10 ~ PARAPET CHANNEL ~ 15PC2

FOR APPROVAL ONLY
NOT FOR FABRICATION

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
15PC1 5 PARAPET CHANNELS SQ-2
15PC1 5 L3X3X1/4 o-7" 14 SHOP PRIMER A36
15PC2 10 PARAPET CHANNELS SQ-2
15PC2 10 C5X6.7 30'-0" 2011 SHOP PRIMER A36
15PH1 17 PARAPET HSS S SQ-2
15PH1 17 HSS4X3X1/4 3'-6 7/16" 595 SHOP PRIMER A500-GR.B
15PH2 12 PARAPET HSS S SQ-2
15PH2 12 HSS4X3X1/4 1'-6 7/16" 183 SHOP PRIMER A500-GR.B
15PH3 1 PARAPET HSS SQ-2
15PH3 1 HSS4X3X1/4 3'-411/16" 34 SHOP PRIMER A500-GR.B
15PH4 1 PARAPET HSS SQ-2
15PH4 1 HSS4X3X1/4 3'-6 3/16" 35 SHOP PRIMER A500-GR.B
15PH5 1 PARAPET HSS SQ-2
15PH5 1 HSS4X3X1/4 3'-7 11/16" 36 SHOP PRIMER A500-GR.B
15PH6 1 PARAPET HSS SQ-2
15PH6 1 HSS4X3X1/4 3'-9 3/16" 37 SHOP PRIMER A500-GR.B
15PH7 1 PARAPET HSS SQ-2
15PH7 1 HSS4X3X1/4 4'-0 3/16" 40 SHOP PRIMER A500-GR.B
15PH8 2 PARAPET HSS S SQ-2
15PH8 2 HSS4X3X1/4 4'-111/16" 82 SHOP PRIMER A500-GR.B
15PH9 2 PARAPET HSS S SQ-2
15PH9 2 HSS4X3X1/4 4'-3 3/16" 84 SHOP PRIMER A500-GR.B
15PH10 2 PARAPET HSS S SQ-2
15PH10 2 HSS4X3X1/4 4'-4 11/16" 87 SHOP PRIMER A500-GR.B
15PH11 2 PARAPET HSS S SQ-2
15PH11 2 HSS4X3X1/4 4'-7 11/16" 92 SHOP PRIMER A500-GR.B
15PH12 2 PARAPET HSS S SQ-2
15PH12 2 HSS4X3X1/4 4'-6 3/16" 89 SHOP PRIMER A500-GR.B
15PH13 1 PARAPET HSS SQ-2
15PH13 1 HSS4X3X1/4 4'-011/16" 40 SHOP PRIMER A500-GR.B
15PH14 31 PARAPET HSS S SQ-2
15PH14 31 HSS4X3X1/4 4'-10 13/16" 1505 SHOP PRIMER A500-GR.B
15PH15 1 PARAPET HSS SQ-2
15PH15 1 HSS4X3X1/4 3'-10 11/16" 39 SHOP PRIMER A500-GR.B
15SC1 3 STUB COLUMNS SQ-2
15SC1 3 HSS6X4X1/4 0'-9 13/16" 36 SHOP PRIMER A500-GR.B
h80 3 HSS4X4X1/4 0'-4 1/2" 13 SHOP PRIMER A36
p41 3 FL1/2"X4" 0'-6" 9 SHOP PRIMER A36
p42 3 FL3/16"X4" 0'-6" 4 A36
w26 3 FL1/2"X9" 0'-9" 34 SHOP PRIMER A36
12 5/8"d WEDGE_ANC BOLT 0'-1 3/4" Site
3 3/4"d A325N BOLT 0'-2 3/4" Site
TOTAL WEIGHT THIS DRAWING 5100
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 15




25'-6

1 ~ PARAPET CHANNEL ~ 16PC1

65'-7

1 ~ PARAPET CHANNEL ~ 16PC3

30-11

1 ~ PARAPET CHANNEL ~16PC4

3563

4 ~ BEARING CHANNEL ~16BC1

o~
i
1'-83
11%

12

| |
23
2 ~JOIST ANGLE ~ 16JA4

2'-0%6

2%

1'-81/g

19 ~ JOIST ANGLE ~ 16JA3

614

%6 ) %he
I

4

1316"@ ’\é’

1

0 ©
o <
N =

16 ~ JOIST PLATE ~ 16JP1

1%

23 ~ 34" CLEVIS ~ 16M1

1 ~JOIST ANGLE ~ 16JA5

11%

2'-41

23 ~ TENSION ROD ~ 16TR1

12

215/1

B"D

[

23/8 | 45/8

She

11 ~ PARAPET CHANNEL ~ 16PC2

—
1115

1115

12

23

1-73h6

25

1'-101146

9~ JOIST ANGLE ~ 16JA1

22 ~ JOIST ANGLE ~ 16JA2

2'-117he

12

33,

116

5~ JOIST ANGLE ~ 16JA6

335

3'-01g

2'-87lg

23 ~ TENSION ROD ~ 16TR2

!
11 ~ JOIST ANGLE ~ 16JA7

BILL OF MATE

RIAL

FOR APPROVAL ONLY
NOT FOR FABRICATION

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
16BC1 4 BEARING CHANNELS SQ-2
16BC1 4 C6X10.5 35'-6 3/4" 1486 SHOP PRIMER A36
16JA1 9 JOIST ANGLES SQ-1/BEV-1
16JA1 9 L2-1/2X2-1/2X1/4 1'-7 3/16" 58 SHOP PRIMER A36
16JA2 22 JOIST ANGLES SQ-1/BEV-1
16JA2 22 L2-1/2X2-1/2X1/4 1'-10 11/16" 169 SHOP PRIMER A36
16JA3 19 JOIST ANGLES SQ-1/BEV-1
16JA3 19 L2-1/2X2-1/2X1/4 2'-0 5/16" 156 SHOP PRIMER A36
16JA4 2 JOIST ANGLES SQ-2
16JA4 2 L2-1/2X2-1/2X1/4 1'-8 3/4" 14 SHOP PRIMER A36
16JA5 1 JOIST ANGLE SQ-1/BEV-1
16JA5 1 L2-1/2X2-1/2X1/4 1'-8 1/8" 7 SHOP PRIMER A36
16JA6 5 JOIST ANGLES SQ-1/BEV-1
16JA6 5 L2-1/2X2-1/2X1/4 2'-11 7/16" 60 SHOP PRIMER A36
16JA7 11 JOIST ANGLES SQ-1/BEV-1
16JA7 11 L2-1/2X2-1/2X1/4 3'-0 1/8" 134 SHOP PRIMER A36
16JP1 16 JOIST PLATES SQ-2
16JP1 16 FL1/4"X4" 0'-4" 18 SHOP PRIMER A36
16M1 23 3/4" CLEVISES SQ-2

16M1 23 3/4" CLEVIS BOI 81 SHOP PRIMER A36
16PC1 1 PARAPET CHANNEL SQ-2
16PC1 1 C5X6.7 25'-6" 171 SHOP PRIMER A36
16PC2 11 PARAPET CHANNELS SQ-2
16PC2 11 L3X3X1/4 o'-7" 31 SHOP PRIMER A36
16PC3 1 PARAPET CHANNEL SQ-2
16PC3 1 C5X6.7 65'-7" 440 SHOP PRIMER A36
16PC4 1 PARAPET CHANNEL SQ-2
16PC4 1 C5X6.7 30'-11" 207 SHOP PRIMER A36
16TR1 23 TENSION RODS SQ-2
16TR1 23 ROD3/4" 2'-4 1/4" 73 SHOP PRIMER A36
16TR2 23 TENSION RODS SQ-2
16TR2 23 ROD3/4" 2'-4 1/4" 73 SHOP PRIMER A36

m3 23 3/4" CLEVIS BOI 82 SHOP PRIMER A36
TOTAL WEIGHT THIS DRAWING 3261
0 ISSUED FOR APPROVAL 01/20/2020

REV DESCRIPTION DATE

13710 JUDSON RD.

SAN ANTONIO, TX 78233

DESCRIPTION

PROJECT NAME SANTA FE PLAZA

DRAWN BY DW. LLC. JOB No. DRG No.

DATE DRAWN 01/20/2020 16




8'-6

19'-11

2 ~ CANOPY BEAM ~17CB1

20™-4%

1~ CANOPY BEAM ~17CB2

1 ~ CANOPY BEAM ~17CB3

20'-4

2 ~ CANOPY BEAM ~ 17CB6

20'-215

2 ~ CANOPY BEAM ~ 17CB4

20'-3

1~ CANOPY BEAM ~ 17CB5

30-7%6

1~ DECKANGLE ~17DA1

36'-0

1 ~ DECK ANGLE ~ 17DA2

179'-5

1 ~DECKANGLE ~17DA3

145'-51,

1 ~DECKANGLE ~17DA4

65'-0316

1 ~DECKANGLE ~17DA5

6

8 ~RTU FRAME ~ 17RF1

5'-59g

4 ~ RTU FRAME ~ 17RF3

3-9

4 ~ RTU FRAME ~ 17RF2

BILL OF MATE

RIAL

FOR APPROVAL ONLY
NOT FOR FABRICATION

MARK | OQTY DESCRIPTION LENGTH WEIGHT REMARKS
17CB1 2 CANOPY BEAMS SQ-2
17CB1 2 HSS8X6X1/4 8'-6" 357 SHOP PRIMER A500-GR.B
17CB2 1 CANOPY BEAM SQ-2
17CB2 1 HSS8X6X1/4 19'-11" 418 SHOP PRIMER A500-GR.B
17CB3 1 CANOPY BEAM SQ-2
17CB3 1 HSS8X6X1/4 20'-4 1/2" 428 SHOP PRIMER A500-GR.B
17CB4 2 CANOPY BEAMS SQ-2
17CB4 2 HSS8X6X1/4 20'-2 1/2" 849 SHOP PRIMER A500-GR.B
17CB5 1 CANOPY BEAM SQ-2
17CB5 1 HSS8X6X1/4 20'-3" 425 SHOP PRIMER A500-GR.B
17CB6 2 CANOPY BEAMS SQ-2
17CB6 2 HSS8X6X1/4 20'-4" 854 SHOP PRIMER A500-GR.B
17DA1 1 DECK ANGLE SQ-2
17DA1 1 L3X3X1/4 30'-7 9/16" 150 SHOP PRIMER A36
17DA2 1 DECK ANGLE SQ-2
17DA2 1 L3X3X1/4 36'-0" 176 SHOP PRIMER A36
17DA3 1 DECK ANGLE SQ-2
17DA3 1 L3X3X1/4 179'-5" 879 SHOP PRIMER A36
17DA4 1 DECK ANGLE SQ-2
17DA4 1 L3X3X1/4 145'-5 1/4" 713 SHOP PRIMER A36
17DA5 1 DECK ANGLE SQ-2
17DA5 1 L3X3X1/4 65'-0 3/16" 319 SHOP PRIMER A36
17RF1 8 RTU FRAMES SQ-2
17RF1 8 L4X3X1/4 0'-6" 23 SHOP PRIMER A36
17RF2 4 RTU FRAMES SQ-2
17RF2 4 L3X3X1/4 3'-9" 74 SHOP PRIMER A36
17RF3 4 RTU FRAMES SQ-2
17RF3 4 L4X3X1/4 5'-5 5/8" 126 SHOP PRIMER A36
TOTAL WEIGHT THIS DRAWING 5790
0 ISSUED FOR APPROVAL 01/20/2020

REV DESCRIPTION DATE

13710 JUDSON RD.

SAN ANTONIO, TX 78233

DESCRIPTION

PROJECT NAME SANTA FE PLAZA

DRAWN BY DW. LLC. JOB No. DRG No.

DATE DRAWN 01/20/2020 17




18CB1+

20'-6

18CB1

S
4 %
11 21 N TYP
AN
= N h52 h52 h52 h52
™ * Lfl)
AN
s 1346"@
=
DETAIL VIEW "p40 =
~
h83 < h83 g h83 g h83
ey ey ey
=
<
4 4-10% 2%, 4 9-11% 21 4 15-0%% 21 4 20-1% | 4%
i 1
RD 5'-1 10'-2 15'-3 20'-4
2
2
20'-6
RD
134 10'-33y 20'-6
2'-9 1-11% 51
5-1 2
10'-2 15'-3 20'-4 =
p40
/ ~—a3l hg3 A 231
/ h52 ha3 o
12 ha3 o )
1316"0 N 15‘
/
/
: i
asl ha3
a3l
— 2-a3L (N/S) 2-a31 (N/S)
20'-6
1 ~ CANOPY BEAM ~ 18CB1
14'-7
RD 543 14'-43),
,-18CB2 p40 137
/ N
T r, <
o I |: :|\\| I I:
2 N L ik
\ \
" , a3
“2-a31 (FIS) - 2-a31 (FIS)
5'-5 9-11 14'-7
E-E
14'-7
5'-43)y 9-11
| E TYP 2-a31 (N/S) a3l
h43 / h43
18CB2 E]/ EN{
\h39 h43
|E RD 5-5 2-a31 (N/S) 9-11 14'-7
D-D

MARK [ QTY DESCRIPTION LENGTH WEIGHT REMARKS
18CB1 1 CANOPY BEAM SQ-2
18CB1 1 HSS6X4X1/4 20'-6" 300 SHOP PRIMER A500-GR.B
a3l 8 L2-1/2X2-1/2X5/16 0'-5" 17 SHOP PRIMER A36
h43 4 HSS6X4X1/4 4'-10 1/8" 284 SHOP PRIMER A500-GR.B
h52 4 HSS4X3X1/4 4'-9" 188 SHOP PRIMER A500-GR.B
h83 4 L2X2X1/4 4'-9" 61 SHOP PRIMER A500-GR.B
p40 2 FL1/2"X3" 0'-4" 3 SHOP PRIMER A36
2 3/4"d A325N BOLT 0'-2 3/4" Site
18CB2 1 CANOPY BEAM SQ-1/BEV-1
18CB2 1 HSS6X4X1/4 14'-5" 211 SHOP PRIMER A500-GR.B
a3l 10 L2-1/2X2-1/2X5/16 0'-5" 21 SHOP PRIMER A36
h39 1 HSS6X4X1/4 6'-11 3/8" 102 SHOP PRIMER A500-GR.B
h43 6 HSS6X4X1/4 4'-10 1/8" 425 SHOP PRIMER A500-GR.B
h51 1 HSS6X4X1/4 14'-5" 211 SHOP PRIMER A500-GR.B
h53 4 HSS4X3X1/4 4'-2" 165 SHOP PRIMER A500-GR.B
h54 1 HSS4X3X1/4 2'-4 11/16" 24 SHOP PRIMER A500-GR.B
h55 1 HSS4X3X1/4 2'-4 11/16" 24 SHOP PRIMER A500-GR.B
h82 4 L2X2X1/4 4'-2" 54 SHOP PRIMER A500-GR.B
p40 3 FL1/2"X3" 0'-4" 5 SHOP PRIMER A36
3 3/4"@ A325N BOLT 0'-2 3/4" Site
TOTAL WEIGHT THIS DRAWING 2093
14'-7
RD 9-11 145 |2
TYP
™
S
ﬂ TT n
Tb_ h39 ﬁ 2
\ h55 h53 h53
TYP>—V€/
Q 3 g N
- = = o
&
<t hg82 hg82
'_‘. 2 o~
A =
—
=t
(. h43
(\Il <t =+E
E»T T [
>
™ (qV]
L0 (0]
e e
| h43
e 0]
& [
—
L0
z
o N FOR APPROVAL ONLY
040 10 e NOT FOR FABRICATION
\ l h43
% ¥ 1 ‘HEJ 0 ISSUED FOR APPROVAL 01/20/2020
(9\]
- REV DESCRIPTION DATE
2'-9%16 4'-9% | 4% 13710 JUDSON RD.
SAN ANTONIO, TX 78233
1~ CANOPY BEAM ~ 18CB2 DESCRIPTION
PROJECT NAME SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 18




20'-6
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
5-11, 10-21, 15'-3Y, 20'-6Y,
RD 19CB1 1 CANOPY BEAM SQ-2
Ya 10-2 2043 |2 19CB1 1 HSSEX4X1/4 206" 300 SHOP PRIMER A500-GR.B
a3l 8 L2-1/2X2-1/2X5/16 0-5" 17 SHOP PRIMER A36
p40 p40 130
\ \ va h6"D h43 4 HSS6X4X1/4 410 1/8" 284 SHOP PRIMER A500-GR.B
19CB1
qu h52 4 HSS4X3X1/4 4-9" 188 SHOP PRIMER A500-GR.B
[ 1 [ W [ 1 [ 1 / ha3 4 L2X2X1/4 4'-9" 61 SHOP PRIMER A500-GR.B
p40 3 FL1/2"X3" 04" 5 SHOP PRIMER A36
TYP>—‘7{'/ o
2 g 3 3/4"@ A325N BOLT 0'-2 3/4" Site
TYP >_VQ
X 19CB2 1 CANOPY BEAM SQ-2
h52 h52 h52 h52 <
q < 19CB2 1 HSS6X4X1/4 25'-0 1/2" 366 SHOP PRIMER A500-GR.B
a3l 10 L2-1/2X2-1/2X5/16 0'-5" 21 SHOP PRIMER A36
h43 5 HSS6X4X1/4 410 1/8" 354 SHOP PRIMER A500-GR.B
0 h50 1 HSS6X4X1/4 4'-10 5/8" 72 SHOP PRIMER A500-GR.B
N o
o ® ® o h52 2 HSS4X3X1/4 4'-9 94 SHOP PRIMER A500-GR.B
h83 < h83 < h83 < h83 < h56 1 HSS4X3X1/4 4-41/2" 43 SHOP PRIMER A500-GR.B
i‘rr\' h57 2 HSS4X3X1/4 4-8" 92 SHOP PRIMER A500-GR.B
RD ha3 2 L2X2X1/4 4-9" 31 SHOP PRIMER A500-GR.B
2] 4-8% 21 4 9'-9% 21> 4 14-10% 21 4 19-11% 21 4 h84 2 L2X2X1/4 4-8" 30 SHOP PRIMER A500-GR.B
(i 1
h85 1 L2X2X1/4 4-4 1/2" 14 SHOP PRIMER A500-GR.B
p40 3 FL1/2"X3" 04" 5 SHOP PRIMER A36
20'-614 .
3 3/4"@ A325N BOLT 0'-2 3/4" Site
5'-2
10'-2 20'-4 RD
& == TOTAL WEIGHT THIS DRAWING 1976
A| 3% 2'-5116 5-0 |2
p40 p40 p40 p40
h52—~ h52—~ h52— h52—~ h52—
N N ~ N N N N N \ TYP /19CBl
a3l S A A S h43 '
__T::::._:____T_: _ E::::.________‘___ L:E::::.________‘___ _ E::::__:____E L it ¥F_| < —
— f 1 i 1 i 1 i L || |I — 12 -\ /( '
\JI l l l l l l l L | 25'-21)
/ L
\
a3l
Uy 2-a31 (N/S) 2-a31 (N/S) 2-a31 (N/S) éﬂ A-A
RD 5-1 10'-2 15'-3 20'-6
= TYP >_7@
1~ CANOPY BEAM ~ 19CB1 19CB2
1’3/16"® /% = - _H‘ ;H
] R R E | ]
o
N a3l a3l a3l
TYP
~ h52 h57 h57 h52 h56
i
=N
Q@
N
9 9 7 9 3
g hg3 < hg4 < hg4 < hg3 < hg5 <
=
<
5'-2
25'-21
RD
2'-8196 1-11%s 515 13 10'-23) 20'-33) 25'-0%
2 5'-3 10'-3 7 15'-3 20'-4 25'-21
40 (B/S
TYP h83- P40
h52ﬁ h ~ F /7h57 /7h57 /7h52 /7h56 h50
19CB2 . . _ _ _ _
\ \ - e - - -
\ /‘1#—*]-_— ||____h_5?_ ______ = ———————— = ————-———— — = ———————— LI = ————————— =
1 I 12 L - 1 [kt = T — F— +—F
%ﬁ | ||-_-J! \ ] ] | ] ] ] ] 4 ] ] ] m
J / / L=

5-a31 (B/S)/ 2- h43 (BIS) Iia h43

a3l

M
1
M

1~ CANOPY BEAM ~ 19CB2 0 ISSUED FOR APPROVAL 01/20/2020

REV DESCRIPTION DATE

A&D FABRICATORS

13710 JUDSON RD.
SAN ANTONIO, TX 78233

FOR APPROVAL ONLY DESCRIPTION

PROJECT NAME SANTA FE PLAZA

NOT FOR FABRICATION

DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 19




o BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS
RD 4'-815 9915 14'-915 19'-915 25015
20CB1 1 CANOPY BEAM SQ-2
20CB1 1 HSSEX4X1/4 25'.0 1/2" 366 SHOP PRIMER A500-GR.B
a3l 10 L2-1/2X2-1/2X5/16 0-5" 21 SHOP PRIMER A36
40 40
e P P p40 h43 5 HSSEX4X1/4 4-10 1/8" 354 SHOP PRIMER A500-GR.B
\ \ h52 2 HSS4X3X1/4 49" 04 SHOP PRIMER A500-GR.B
20CB1 I
3 [} ‘H: 4} h56 1 HSS4AX3X1/4 4-41/2" 43 SHOP PRIMER A500-GR.B
I T T = T T T T ~ h57 2 HSS4X3X1/4 4-8" 92 SHOP PRIMER A500-GR.B
h85 1 L2X2X1/4 4-41/2" 14 SHOP PRIMER A500-GR.B
5 31 31 31 o hes 2 L2X2X1/4 4-9" 31 SHOP PRIMER A500-GR.B
(9V]
h89 2 L2X2X1/4 4.8" 30 SHOP PRIMER A500-GR.B
p40 3 FL1/2"X3" 0-4" 5 SHOP PRIMER A36
h56 h52 h57 h57 h52 o 3 3/4"@ A325N BOLT 0-2 3/4" Site
4 To)
N 20CB2 1 CANOPY BEAM sQ-2
B
TYP Q 20CB2 1 HSS6X4X1/4 250 1/2" 366 SHOP PRIMER A500-GR.B
N
o o o o o a3l 10 L2-1/2X2-1/2X5/16 0-5" 21 SHOP PRIMER A36
| h85 e h88 e h89 e h89 e h88 e h43 6 HSS6X4X1/4 4-10 1/8" 425 SHOP PRIMER A500-GR.B
;ir: h52 2 HSS4X3X1/4 4-9" 04 SHOP PRIMER A500-GR.B
h56 1 HSS4X3X1/4 4-41/2" 43 SHOP PRIMER A500-GR.B
25-0% h57 2 HSS4X3X1/4 4-8" 92 SHOP PRIMER A500-GR.B
- h83 1 L2X2X1/4 49" 15 SHOP PRIMER A500-GR.B
RD 4'-8%4 14'-9 24'-10Y4 2% h85 1 L2X2X1/4 4-41/2" 14 SHOP PRIMER A500-GR.B
) 4-8% o-01) 14-9% 19-9% 2501 31 2-1%6 2-81%6 h8s 1 LoX2X1/4 49" 15 SHOP PRIMER A500-GR.B
7 2. 831 (N/S) ' 040 p40 20 ] A| 2 h89 2 L2X2X1/4 4-8" 30 SHOP PRIMER A500-GR.B
- a — P L=
\ 40 3 FL1/2"X3" 0-4" 5 SHOP PRIMER A36
) / —h52 —h57 / —h57 ~h52 /h43 ,~h8s h52- a3l~  p40 )F o P
P d ﬂ —13415"'@ . 7 \ N \r\ N 3 3/4"@ A325N BOLT 0'-2 3/4" Site
__h§6______\\_ _Hnlj___.é: ______ __.:‘/_ ______ ___.:‘/_ ______ ___.:‘/_ ______ Nij )/ h43 \. \\ + 2
_— = = == = = = - = = = = = == = = = = . == = == = = === ==l = = = = = = = = = -, === = = === = = = =3 = = — S
i : : : m : : m : T | theo " T ®
; J = 4 I TOTAL WEIGHT THIS DRAWING 2172
/
) / L
/
a3l h43 h43 h43 h43 AI A-A J
20CB1
2-a31 (N/S) 25'-21)
2-a31 (N/S) 2-a31 (N/S)
1~ CANOPY BEAM ~ 20cB1 RD 5-3 103 15'-3 204 25-0% |2
TYP
p40— > p40 p4°\
\%L \ \% 20CB2 %
-
O [ O [ T
<
N a3l a3l a3l
~ h52 h57 h57 h52 h56
i )
F TYP
Q
&
9 3 9 9 3
% hg8s < h89 < h89 < h83 < h85 <
&Y
<
25'-21%
5.0 5-3 10-3 15-3 20'-4 2521
RD
2-9 1-11% 512 13 1023 20-3%
‘ | > T s h57 h57
p40 (B/S) h8s— E / /" /
5 xh h52= \ A S K o, R N
— ' 3- h43 (BIS) : _ ‘_l__'T --------- e e e e el — < e e S _________F:"
7 o _I: L 12 l l l l I
| |'-_- 4 |
d
/ |E h43
5- a31 (B/S) h43 h43 h43 ,
E-E
1~ CANOPY BEAM ~ 20CB2 0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION
FOR APPROVAL ONLY PROJECT NAME | SANTA FE PLAZA
NOT FOR FABRICATION DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 20




1316

5'-01»

TYP

E

p40

15-0% |

19'-103 2%
— %

p40 \

20'-1

2'-9

5'-2

a3l

a3l

asl/gL
/}—‘7<TYP

-1

2'-0%

h87

h84

h84

h87

4%

5'-2

2'-8196 1-11%s6 515

040 (B/S)

TYP h58 -
\

. \ 2-n43 (BIS) _|_

= T ]
12 || _||
21032/
4- a31 (B/S)

H-H

5'-015

15'-0%

19'-1034 2V,

20'-1

1~ CANOPY BEAM ~ 21CB2

315

2-1%6

~h83
/

h52 -

h43

13h6

N

m———t

I

MARK | OTY DESCRIPTION LENGTH WEIGHT REMARKS
21CB1 1 CANOPY BEAM SQ-2
21CB1 1 HSS6X4X1/4 25'-0 1/2" 366 SHOP PRIMER A500-GR.B
a3l 10 L2-1/2X2-1/2X5/16 0'-5" 21 SHOP PRIMER A36
h43 5 HSS6X4X1/4 4'-10 1/8" 354 SHOP PRIMER A500-GR.B
h52 3 HSS4X3X1/4 4'-9" 141 SHOP PRIMER A500-GR.B
h56 1 HSS4X3X1/4 4'-4 1/2" 43 SHOP PRIMER A500-GR.B
h59 1 HSS4X3X1/4 4'-7" 45 SHOP PRIMER A500-GR.B
h83 3 L2X2X1/4 4'-9" 46 SHOP PRIMER A500-GR.B
h85 1 L2X2X1/4 4'-4 1/2" 14 SHOP PRIMER A500-GR.B
h86 1 L2X2X1/4 4'-7" 15 SHOP PRIMER A500-GR.B
p40 3 FL1/2"X3" 0'-4" 5 SHOP PRIMER A36
3 3/4"@ A325N BOLT 0'-2 3/4" Site
21CB2 1 CANOPY BEAM SQ-2
21CB2 1 HSS6X4X1/4 20'-1" 294 SHOP PRIMER A500-GR.B
a3l 8 L2-1/2X2-1/2X5/16 0'-5" 17 SHOP PRIMER A36
h43 5 HSS6X4X1/4 4'-10 1/8" 354 SHOP PRIMER A500-GR.B
h57 2 HSS4X3X1/4 4'-8" 92 SHOP PRIMER A500-GR.B
h58 2 HSS4X3X1/4 4'-6 1/2" 90 SHOP PRIMER A500-GR.B
h84 2 L2X2X1/4 4'-8" 30 SHOP PRIMER A500-GR.B
h87 2 L2X2X1/4 4'-6 1/2" 29 SHOP PRIMER A500-GR.B
p40 3 FL1/2"X3" 0'-4" 5 SHOP PRIMER A36
3 3/4"d A325N BOLT 0'-2 3/4" Site
TOTAL WEIGHT THIS DRAWING 1962
25'-0%
RD 9'-9% 14'-10% 19'-9%% 2501
14'-10Y 24'-10Y4
p40 p40 p40
TYP
: [ \ 21CB1
I~ N T T T T n
O?
a3l a3l N
h56 h52 h59 h52 N
in
TYP =
Q
~
@ g Y, Q Q
h85 < h83 < h83 < h86 < h83 <
| N
=\
2] 9'-9% 14'-10% 19'-9%% 25'-0%
RD 14'-10Y 24'-10Y4 24y
p40
2-a31 (N/S)— 40
a31 (N/S) \ p 040 Q_ID
~h52 _—h59 ~h52 E
- s /
N S R — A — —+ — S —
- - T m . m A - - - == - = . - T == = — L - - - == - = . . T = L3
. ] T T : m T m T T l:l T T
H ¢ l—l /Ll L
/ 2-a31 (N/S) \h43 h43 h43 h43 D
h43
250
1 ~ CANOPY BEAM ~ 21CB1
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
DESCRIPTION
FOR APPROVAL ONLY PROJECT NAME | SANTA FE PLAZA
NOT FOR FABRICATION
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 21




2'-03

MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
22L.D1 1 LADDER SQ-1/BEV-1
24'-1%g 22LD1 1 FL3/8"X2 1/2" 24'-1 5/8" 77 A36
ml 23 ROD3/4" 2'-0" 62 A36
p33 1 FL3/8"X2 1/2" 24'-1 5/8" 77 A36
p34 1 FL3/8"X2 1/2" 8'-8 5/8" 28 A36
p35 1 FL3/8"X2 1/2" 8'-8 5/8" 28 A36
p36 2 FL3/8"X2 1/2" 2'-0" 11 A36
RD 105 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 1'-0 21'-014 24'-11g 037 4 FL3/8"X2 1/2" 17 20 A36
p43 1 PL3/4"X22 1/4" 2'-0" 114 SHOP PRIMER A36
p44 11 L8X4X1/2 0'-4" 72 A36
p44 22PB1 4 PIPE BOLLARD S SQ-2
TYP 22PB1 4 PIPEGSTD 5'-0" 354 SHOP PRIMER A36
p43
d
p33
+ + + + _ + an T T TOTAL WEIGHT THIS DRAWING 842
i <t
; g 3
=2 < N N
<
F i 12
N\
+ + #* . + == == ==
e "D~ ﬁ
22LD1 044
2 2
1'-10 5-10 9'-10 13'-10 17'-10
8'-81g
2'-7 1'-10%8 1'-23) 1'-315¢ 171346
p34
Y S s S n
/
/
4-ml (F/S)~
——
p44 p44 p44 p44 / o
N N N ) / 2 5]
y
. 22LD1 _ /_/ p33
[ p S (o) (o) (o) (o) (o) (o) S (o) (o) (o) S (o) (o) (o) S (o] -
/
/
/ 2- p37 (N/S)
19- m1 (F/S)~/
TYP
1 ~ LADDER ~ 22LD1
5-0
4 ~ PIPE BOLLARD ~ 22PB1
0 ISSUED FOR APPROVAL 01/20/2020
REV DESCRIPTION DATE
13710 JUDSON RD.
SAN ANTONIO, TX 78233
FOR APPROVAL ONLY DESCRIPTION
NOT FOR FABRICATION PROJECT NAME | SANTA FE PLAZA
DRAWN BY DW. LLC. JOB No. DRG No.
DATE DRAWN 01/20/2020 22




	1 - S1 - Rev 0
	2 - S2 - Rev 0
	3 - S3 - Rev 0
	4 - S4 - Rev 0
	5 - S5 - Rev 0
	6 - S6 - Rev 0
	1 - Rev 0
	2 - Rev 0
	3 - Rev 0
	4 - Rev 0
	5 - Rev 0
	6 - Rev 0
	7 - Rev 0
	8 - Rev 0
	9 - Rev 0
	10 - Rev 0
	11 - Rev 0
	12 - Rev 0
	13 - Rev 0
	14 - Rev 0
	15 - Rev 0
	16 - Rev 0
	17 - Rev 0
	18 - Rev 0
	19 - Rev 0
	20 - Rev 0
	21 - Rev 0
	22 - Rev 0

